





2 - 1. &9 CHSE Q=7 - (1) AN &
(9l - 2, %)
2 g |E5F

= | =2 0m | 12 | 21 | 31 | 41 | 53 | 61 | 72 | 8 | on | 10w
2025 4| 71 1000 05 02 01 17 33 207 122 173 200 107 132
20244 7.0 100.0 0.1 0.4 0.7 2.3 44 156 153 179 188 11.3 132
20234 6.7 100.0 0.6 0.7 1.1 2.6 3.8 260 126 163 178 79 10.7
LR
= = 2 7.0 100.0 0.2 0.2 0.0 1.6 43 189 143 183 198 10.2 122
2 = = 6.9 100.0 1.4 0.3 0.8 1.5 51 31.3 57 141 10.9 6.8 221
A = = 7.2 100.0 0.2 0.2 0.0 2.0 16 174 105 203 246 128 104
ZzolaA| 711000 07 00 00 20 17 211 146 135 217 125 123
R,
=k At 7.0 100.0 0.5 0.2 0.2 2.4 43 229 10.7 16.7 178 100 144
o At 7.1 100.0 0.5 0.2 0.0 1.0 23 185 137 180 223 115 120
LR
15~294| 701000 00 00 00 27 11 252 155 152 180 7.0 152
30~394| 711000 00 00 00 00 54 200 117 215 181 120 11.3
40~494 | 701000 10 00 00 14 35 191 128 167 280 68 107
50~59 A 71 1000 00 00 00 10 27 207 131 203 178 120 124
60AM o4 7.1 100.0 0.7 0.4 0.3 2.2 36 202 109 161 19.7 119 14.0
65AM oOfA4 7.1 100.0 0.5 0.4 0.2 2.6 3.2 214 99 169 186 121 14.2
Cot oy
Z2 Z o] 3} 6.9 100.0 0.5 0.2 0.2 2.4 44 230 123 160 16.2 10.8 139
ni = 7.0 100.0 0.9 0.0 0.2 1.4 1.8 219 123 182 221 9.0 123
I & o 4 7.2 100.0 0.0 0.4 0.0 1.2 35 166 11.8 181 225 124 134
CEOIAEf )
] z 6.6 100.0 0.0 0.0 0.2 2.1 6.4 309 132 127 171 6.4 11.1
Moxgel 731000 07 02 01 12 20 147 124 192 220 127 148
At /ol & 6.7 100.0 0.4 0.5 0.2 3.0 40 285 105 165 16.7 9.0 10.7
TS
2 A 7.1 100.0 0.2 0.3 0.1 1.5 29 197 117 180 21.2 115 13.0
AR Ol HPREE 6.9 100.0 0.9 0.1 0.2 2.2 40 224 13.0 16.3 180 95 13.6
CH Yy
Ao/ ma| 781000 00 00 00 10 16 94 73 242 194 190 181
At = 6.5 100.0 0.0 1.4 0.0 0.0 79 343 80 123 21.7 45 10.0
Me|A/moy | 7.2 1000 10 00 03 12 04 191 147 161 212 120 139
L 2 o o 7.2 100.0 0.0 0.0 0.0 2.1 2.4 205 98 16.1 224 140 12.7
s/ =8 6.7 100.0 0.0 0.5 0.0 3.3 44 192 205 175 21.0 5.5 8.0
= 0l 7.6 100.0 0.0 0.0 0.0 0.0 0.0 16.4 85 215 243 129 164
OtPAS S
j00mtel jar| 65 1000 05 02 05 48 65 289 100 155 148 87 94
100~2000t8 | 68 1000 05 06 00 08 40 253 140 152 233 71 91
200~300%+d 7.1 100.0 0.0 0.0 0.0 1.6 3.7 21.7 83 21.7 219 9.0 121
300~4008td | 7.1 1000 00 00 00 20 12 234 106 189 204 89 146
4002+ o|At 7.7 100.0 0.8 0.8 0.3 0.0 217 114 100 13.2 255 143 215
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2 - 1. ol Chg BEZ - (2) 4D U= A MY
(9l - 2, %)
2 g |E5F

= | =2 0m | 12 | 21 | 31 | 41 | 53 | 61 | 72 | 81 | 9m | 10w
20254 70 1000 03 03 02 14 33 223 138 156 199 110 119
202 4 4 6.9 100.0 0.0 0.4 0.7 3.2 3.4 192 154 166 19.0 9.7 123
20234 6.5 100.0 0.7 0.6 1.3 4.1 3.3 276 126 174 152 7.2 10.1
LR
= = 2 7.0 100.0 0.0 0.2 0.4 1.7 3.3 195 146 159 219 106 118
=2 = = 6.8 100.0 0.0 0.5 0.5 1.1 6.8 314 106 14.2 9.0 51 208
A = = 6.9 100.0 0.8 0.5 0.0 1.0 26 21.7 131 18.1 21.0 13.7 7.6
FzoizA| 771000 07 00 00 13 15 224 153 126 224 136 103
R,
= At 6.9 100.0 0.4 0.4 0.5 2.2 3.8 232 130 152 176 10.2 135
o At 7.1 100.0 0.2 0.2 0.0 0.5 28 21.2 146 160 223 119 10.2
LR
15~294| 661000 10 00 00 22 29 308 153 120 193 59 106
30~394| 671000 00 13 00 33 88 194 133 144 207 83 104
40~49K| 691000 00 00 00 08 24 246 114 211 242 80 7.4
50~59A| 69 1000 10 00 06 04 27 220 159 169 193 121 90
60AM o4 7.2 100.0 0.0 0.4 0.3 1.3 29 20.2 132 149 191 131 146
65AM oOfA4 7.2 100.0 0.0 0.5 0.4 1.2 28 210 124 151 180 133 15.2
Cot oy
Z2 Z o] 3} 7.0 100.0 0.6 0.2 0.2 1.3 3.0 224 154 144 173 115 138
ni = 7.0 100.0 0.0 0.0 0.2 0.2 26 255 143 168 20.7 9.5 10.3
I & o 4 7.0 100.0 0.3 0.7 0.4 2.7 45 187 113 159 224 121 11.0
CEOIAEf )
] z 6.5 100.0 0.6 0.0 0.2 2.7 6.0 309 150 11.8 187 5.2 9.0
oxoe|l 721000 01 04 03 11 27 176 127 182 208 131 128
At /ol & 6.9 100.0 0.5 0.4 0.2 0.7 25 274 158 118 183 106 118
TS
2 A 7.0 100.0 0.1 0.4 0.2 1.5 3.0 214 137 162 205 11.3 118
AR Ol HPREE 6.9 100.0 0.6 0.2 0.4 1.2 39 236 140 147 188 106 120
CH Yy
A2 /2a| 751000 00 00 00 00 16 132 144 167 240 145 157
At = 6.4 100.0 0.0 1.4 0.0 2.7 9.0 330 3.7 17.2 191 6.4 7.4
MH|A/oof | 7.2 1000 00 00 07 15 06 21.0 166 111 234 104 145
= 2 o 9| 721000 00 00 00 12 21 214 97 178 218 154 108
s/ =8 6.7 100.0 0.0 0.0 0.0 1.7 41 210 223 181 173 6.7 8.6
= ol 6.7 100.0 2.5 3.5 0.0 3.5 0.0 234 95 180 139 129 129
OtPAS S
1009ty jat | 68 1000 00 05 09 12 60 251 134 143 168 109 109
100~200at2 | 68 1000 00 00 00 00 15 300 167 182 152 108 76
200~300%+d 7.1 100.0 0.0 0.0 0.0 2.0 21 208 132 201 199 95 124
300~4008td | 7.1 1000 09 12 1.2 27 12 189 114 139 245 87 154
4002+ o|At 7.4 100.0 0.0 0.8 0.0 1.7 29 136 113 144 247 13.7 16.9
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2 - 1. &9 CHSt k=7t - (3) WE YT
(9l - 2, %)
2 g |E5F
= | =2 0m | 12 | 21 | 31 | 41 | 53 | 61 | 72 | 8 | on | 10w
2025 4| 69 1000 02 05 07 21 42 232 132 158 173 112 115
202 4 4 6.9 100.0 0.1 0.7 1.4 2.8 47 192 142 16.2 147 126 134
20234 6.6 100.0 0.6 0.9 1.4 3.3 46 260 11.7 146 180 84 10.5
LR
= = = 6.8 100.0 0.0 0.4 0.4 2.7 44 238 124 187 176 9.6 9.9
=2 = = 6.7 100.0 0.3 1.3 0.9 3.4 6.7 248 126 144 108 76 17.2
A = = 7.0 100.0 0.2 0.6 0.8 0.6 29 204 148 164 183 144 106
ZFzo Yy 7.0 100.0 0.7 0.0 1.2 1.6 3.1 241 133 89 209 142 120
R,
=k At 6.8 100.0 0.0 0.4 0.5 2.9 47 263 128 128 165 104 128
o At 6.9 100.0 0.4 0.6 0.9 1.3 3.7 199 135 190 182 122 10.2
LR
15~294| 691000 00 00 07 26 56 218 135 152 206 70 13.1
30~394| 711000 00 00 00 00 21 256 93 188 230 107 106
40~494 | 681000 10 00 00 27 33 228 147 146 221 113 75
50~594| 69 1000 00 00 09 06 38 239 116 185 173 156 7.9
60AM o4 6.8 100.0 0.2 1.0 0.9 2.8 46 230 140 148 144 10.7 13.7
65AM oOfA4 6.8 100.0 0.2 1.2 1.1 3.3 49 230 146 137 126 115 141
Cot oy
Z2 Z o] 3} 6.8 100.0 0.2 0.7 0.9 2.4 46 252 153 139 128 10.8 133
i = 6.9 100.0 0.4 0.1 0.3 2.9 3.4 229 125 167 193 111 10.2
I & o 4 7.0 100.0 0.0 0.6 0.9 1.0 45 210 11.0 174 211 119 10.6
CEOIAEf )
] z 6.5 100.0 0.0 0.0 0.4 1.7 6.8 31.2 127 141 193 4.5 9.2
ozt el 711000 03 04 06 23 26 188 132 172 184 133 130
A& /O & 6.5 100.0 0.2 1.3 1.2 2.0 6.2 286 136 136 119 118 9.6
TS
Z| %) 6.9 100.0 0.0 0.2 0.4 2.5 35 223 132 166 186 114 11.3
AR Ol HPREE 6.7 100.0 0.5 0.9 1.3 1.5 5.3 247 131 146 153 109 11.8
CH Yy
Ao /2g| 741000 00 00 10 16 39 119 108 169 261 150 128
At = 6.4 100.0 0.0 1.4 0.0 2.3 78 255 186 130 185 7.8 5.2
MHA/THOf| 77 1000 00 00 00 40 08 218 125 192 162 128 127
= 2 o ¢ 6.9 100.0 0.0 0.0 0.6 2.9 39 227 136 149 180 127 108
s/ =8 6.7 100.0 0.0 0.4 0.4 1.7 51 29.7 131 125 21.3 51 10.7
= 0l 7.6 100.0 0.0 0.0 0.0 0.0 0.0 20.9 85 180 155 174 198
OtPAS S
j00mtel jar| 63 1000 00 19 23 29 97 268 134 129 101 106 95
100~2000k9! | 65 1000 00 00 00 47 43 294 160 174 87 109 85
200~3008+2 6.8 100.0 0.0 0.0 0.0 1.2 55 240 153 163 211 7.5 9.1
300~4000tel | 69 1000 00 00 00 05 37 296 104 181 153 58 166
4002+ o|At 7.5 100.0 0.0 0.8 0.0 2.5 1.9 16.1 10.1 10.4 220 189 174
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2 - 1. &l oigt =Y - (4) HH =
(EH9l - A, %)
SN (i
= | mz om | 13 | 21 | 33 | 4n |58 | em | 73 | 81 | on | 107
2025 43| 42 1000 87/ 83 101 116 101 228 121 78 55 20 09
202 4 4 3.7 100.0 121 96 148 13.0 88 194 6.6 7.5 4.1 25 1.4
20234 4.0 100.0 9.5 89 116 126 10.6 226 6.8 7.7 5.6 2.1 2.1
LR
= = 4 4.5 100.0 6.0 7.5 84 102 11.7 237 143 8.9 5.8 2.6 0.9
2 =2 i 3.9 100.0 17.3 7.3 47 10.0 9.7 280 9.6 5.9 5.6 0.8 1.1
4 =2 | 381000 93 102 152 120 97 204 97 78 42 16 00
Fzola2A| 411000 79 88 120 157 70 199 116 67 65 20 18
R,
= At 4.2 100.0 9.4 8.3 7.8 112 101 254 116 8.1 5.3 23 0.4
o At 4.1 100.0 8.0 83 126 119 101 202 125 7.5 5.8 1.7 1.4
<o
15~294| 451000 59 78 76 124 88 259 134 93 48 42 00
30~394 | 471000 12 53 37 96 64 224 158 97 109 51 00
40~49K| 461000 55 64 129 96 73 219 138 131 60 08 27
50~59A| 431000 58 99 103 78 90 276 136 88 56 12 04
60AM o4 3.8 100.0 10.9 88 111 136 122 206 10.1 5.5 4.6 1.6 1.0
65AM oOfA4 3.8 1000 104 103 119 128 115 216 104 5.8 2.5 1.5 1.3
S LR
Z2 Z o] 3} 4.1 100.0 8.9 84 103 129 115 207 114 8.1 4.4 2.5 0.8
il = 4.1 100.0 8.8 8.0 9.8 119 99 244 124 8.2 4.5 0.6 1.5
I & o 4 4.3 100.0 8.5 85 10.2 9.4 84 2471 126 7.1 8.1 2.8 0.2
E N
0| = 4.5 100.0 6.4 6.1 59 138 87 288 147 8.1 5.1 2.1 0.3
ozt el 411000 100 86 104 112 11.0 198 120 82 60 22 06
A& /O & 41 100.0 7.3 9.7 135 102 87 26.3 9.5 6.4 4.8 1.6 2.1
FHEED
2 A 4.1 100.0 9.9 8.9 86 11.2 9.6 252 127 6.2 5.4 1.8 0.6
AR Ol HPREE 4.3 100.0 6.9 74 125 121 109 191 111 105 5.8 2.4 1.3
CH Y
Ao /e | 391000 119 94 125 131 87 172 86 96 77 13 00
At = 4.3 100.0 6.5 8.2 9.9 7.2 9.6 314 148 5.6 5.0 0.0 1.7
MH|A/mof | 43 1000 112 70 51 113 102 237 143 43 91 28 10
= 2 o ¢ 4.0 100.0 8.2 9.1 9.6 122 126 245 122 8.1 1.8 0.9 0.7
s/ =8 39 100.0 11.3 116 7.7 109 6.2 280 139 3.4 4.8 2.2 0.0
= 0l 41 100.0 135 9.5 9.5 9.5 70 199 104 104 3.5 7.0 0.0
REESTX
1000k O3t | 40 1000 79 93 130 144 88 199 111 81 49 16 09
100~2000t | 41 1000 100 65 96 97 102 310 124 62 20 19 05
200~300%+d 4.3 100.0 5.2 7.4 85 115 161 273 137 2.4 2.2 3.2 2.5
300~4000ted | 4.4 1000 124 51 74 78 61 305 119 91 67 27 04
4000k9] OjAH| 3.9 1000 115 147 72 101 71 212 106 72 88 15 00
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2 - 2. 717 Y4WZ 25

5022 | 1008|2008+ | 3008k [ 4008Hel (5008l (6008l 7008+

y 5o |~ < 7| 8008+2
T 2 | A |Tajer 1002k 2008t 3008k 4008t 5003tel 6008+l 7008|8008kl OJA
ofge  ojee ook ool foojek ook poapgk |oofgk
2025 H| 1000 109 154 144 179 163 104 48 42 17 41
2024 4| 1000 67 186 152 189 119 105 63 31 35 52
20234| 1000 91 183 179 179 173 72 37 32 20 33
LR
= =2 4 100.0 11.6 15.7 10.7 18.3 17.7 10.6 4.4 4.0 1.3 5.5
2 =2 3 100.0 22.3 15.8 18.1 15.2 8.6 7.6 4.7 3.1 1.0 3.8
N 2 #H 100.0 5.0 13.8 15.0 19.5 19.9 11.3 5.1 4.0 3.9 2.6
zoam| 1000 75 167 192 168 143 110 57 60 00 28
Y
= At 100.0 5.5 10.2 14.1 17.9 19.7 13.2 6.2 58 2.4 5.1
o At 100.0 23.7 27.7 15.0 17.9 8.2 3.8 1.5 0.6 0.0 1.6

<A FED
15~29A | 1000 34 52 137 642 88 00 4.7 0.0 0.0 0.0
30~394 | 1000 00 0.0 37 203 437 90 30 123 3.0 4.8
40~49 M| 1000 00 1.5 95 12,6 246 245 101 8.7 3.5 5.0
50~59A| 1000 30 4.1 89 159 200 219 106 3.1 40 86
60AM OlA| 1000 177 248 185 156 108 4.4 2.0 3.1 0.5 2.6
654 OfA| 1000 204 284 199 152 8.6 2.9 1.4 1.5 0.3 1.4

SR

= Z o] 5| 100.0 23.3 30.3 19.5 16.1 5.8 2.1 0.5 1.4 0.4 0.6
i Z | 100.0 4.5 9.5 17.4 15.6 24.0 15.4 5.3 3.7 1.1 3.5
[ £ o] A 1000 0.0 0.9 4.7 22.2 234 16.9 10.3 85 3.9 9.2
(ZQSEHED

0| Z | 100.0 6.2 11.1 17.9 41.3 21.6 1.9 0.0 0.0 0.0 0.0
Hi & A Q' & | 100.0 3.0 8.4 13.7 14.6 19.0 17.0 8.1 6.7 2.9 6.5
At& /o & | 1000 28.8 31.5 13.9 13.2 8.3 1.1 0.7 1.2 0.0 1.2
(BAZED

2 A 100.0 1.5 6.9 14.3 22.3 21.0 13.8 6.4 58 2.3 5.7

Abigiypet | 100.0 34.6 36.9 14.6 6.6 4.3 1.8 0.9 0.2 0.0 0.0

KR

Mg /2a| 1000 00 33 111 108 241 209 121 60 2.1 9.5
Ab of 1000 00 16 00 465 198 96 100 63 37 24
MH/A/mOy| 1000 00 24 133 187 232 165 66 80 2.1 9.3
= 2 of o 1000 40 11.0 248 246 177 72 2.1 32 17 37
Js/w=| 1000 1.7 155 163 213 204 134 41 40 00 32
2 ol 1000 00 00 41 139 199 233 105 104 95 85
OtHAEE

1000te] O] 1000 413 587 00 00 00 00 00 00 00 00
100~2000t2d | 1000 00 00 1000 00 00 00 00 00 00 00
200~3008t | 1000 00 00 00 1000 00 00 00 00 00 00
300~4000t | 1000 00 00 00 00 1000 00 00 00 00 00
4009t ojAF | 1000 00 00 00 00 00 412 192 168 66 162

ra
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2-3 25 U35 - (1) 25 8

: %)

T = Al 25 US 25 93 9| =

2025 4 100.0 83.1 16.9 3.2
202 3 4 100.0 87.4 12.6 -
CAL Y &5
z = 37 100.0 85.6 14.4 5.2
g = 7 100.0 85.2 14.8 0.0
N = A 100.0 81.2 18.8 1.9
ZFzoa 100.0 77.7 22.3 2.6
<M )
ot 2t 100.0 92.3 7.7 3.2
of 2t 100.0 73.4 26.6 3.2
a3 8o
15~29A 100.0 68.3 31.7 26.7
30~39A 100.0 83.8 16.2 0.0
40~49A 100.0 80.8 19.2 0.0
50~59A 100.0 86.4 13.6 0.0
60A O A 100.0 84.9 15.1 0.0
65K O A 100.0 86.0 14.0 0.0
I
z = o & 100.0 85.4 14.6 7.4
il = 100.0 76.6 23.4 1.1
i & o] A 100.0 87.0 13.0 0.0
(ZOIGENES
oj ke 100.0 74.9 25.1 15.8
B © 2t Q! & 100.0 82.8 17.2 0.0
At /O & 100.0 91.2 8.8 0.0
(BAESE
e of 100.0 97.5 2.5 0.0
AR Ol HpRiBE 100.0 57.3 427 8.5
<A Y g
=Ry n ] 100.0 100.0 0.0 0.0
At =] 100.0 100.0 0.0 0.0
A H| A /THOj 100.0 97.8 2.2 0.0
=2 of o 100.0 92.1 7.9 0.0
Ns/ R 100.0 99.6 0.4 0.0
2 ol 100.0 100.0 0.0 0.0
OttasE
1008+l O]9t 100.0 92.9 7.1 0.0
100~2008+ 100.0 99.1 0.9 0.0
200~300%t! 100.0 97.4 2.6 0.0
300~4009+8] 100.0 97.8 2.2 0.0
4002+ o|At 100.0 99.4 0.6 0.0

2025 HMEtHE

F) oY 2

AR ABIZA

[olNe)
OF 19M| O|2to2 AL CHAOIA A|QE
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o=

= ow )| oA | = e A e R
2025 4 29 1000 331 6.1 27.0 6.1 208 16.2 46
20234 2.8 100.0 37.0 6.9 30.2 46.1 16.9 10.9 59
Ao
= =l | 29 100.0 32.2 57 26.5 48.0 19.7 15.4 4.3
=2 = 2 2.8 100.0 35.1 9.6 255 47.0 179 15.9 1.9
N o= 2 29 1000 332 43 289 437 231 158 7.3
B zol 3 29 1000 333 64 269 433 234 194 4.0
T
= At 29 100.0 33.3 59 27.4 42.3 24.4 19.7 4.7
o At 2.8 100.0 32.7 6.3 26.4 51.2 16.1 11.6 4.5
LR
15~29A| 29 1000 359 2.3 336 437 205 11.0 9.5
30~394 28 1000 40.9 9.8 312 34.4 246 197 4.9
40~49 K 30 1000 239 2.2 216 579 182 146 36
50~59MA 3.1 100.0 239 4.3 19.6 46.0 30.1 245 5.6
60AM o4 2.8 100.0 37.0 7.6 294 459 171 13.4 3.7
65M O A 27 1000 40.1 72 328 457 142 11.4 2.8
Cot
Z2 Z o] 3} 2.6 100.0 419 9.6 32.3 46.4 11.7 9.2 2.5
ni = 2.9 100.0 32.8 4.4 28.4 46.6 20.6 16.2 4.5
I & o 4 3.1 100.0 23.0 3.6 19.5 45.4 31.6 24.4 7.2
CZOIAERE)
0| =z 2.7 100.0 42.7 9.5 33.2 42.2 15.2 10.9 4.2
Hf @ A U S 3.0 100.0 26.7 4.2 22.4 485 24.8 19.1 57
A& /O & 2.6 100.0 44.0 8.8 35.1 42.2 13.9 121 1.8
GAALSE
E of 30 1000 27.9 38 24.0 477 24.4 193 5.1
ADI I HPREE 25 1000 49.0 131 359 412 98 6.7 31
CH oY
A2/ e 32 1000 240 39 201 390 369 251 11.9
At = 29 100.0 234 50 18.4 56.3 20.3 179 2.4
A H| A /THOf 30 1000 265 36 229 463 271 20.0 7.1
L a2 o o 29 100.0 29.4 3.1 26.3 47.7 229 19.2 3.7
s/ =8 2.8 100.0 32.2 4.6 27.6 53.5 14.4 13.7 0.7
= ol 3.2 100.0 234 3.5 19.9 40.3 36.3 29.3 7.0
OlRASE)
1008kl Ojat 23 1000  61.1 137 474 341 48 48 0.0
100~2008+) 27 1000 372 47 325 50.3 125 109 16
200~3000+] 28 1000 29.1 6.3 228 56.6 14.4 123 2.1
300~400%2 3.0 100.0 249 3.3 21.6 51.3 23.8 18.4 5.4
40038 OfA 34 1000 17.6 26 15.0 342 482 36.2 12.0
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2 - 4 MASA o FY H=

(THQ] @ %)

T+ = Al A ATt 0?64 Ha2 UALCE Jta e 2tz
A ACE AACE UAACE UACE

2025 4 100.0 59.9 19.7 40.2 40.1 323 7.8
202 3 4 100.0 61.9 20.6 41.3 38.1 30.2 7.9
CA 9 EH
z =2 100.0 59.2 17.8 41.3 40.8 328 8.0
2 =2 7 100.0 53.3 13.3 40.0 46.7 40.9 5.8
N =2 A 100.0 65.2 25.0 40.2 348 28.6 6.3
Zzoay 100.0 60.3 22.8 375 39.7 28.5 11.2
<A =
Lt 2t 100.0 62.1 19.8 42.4 37.9 29.4 8.5
o 2t 100.0 57.6 19.7 37.9 42.4 35.3 7.1
g 8o
15~29A 100.0 76.0 22.0 54.0 24.0 16.7 7.2
30~39A4A 100.0 54.4 23.6 30.8 456 28.2 17.3
40~49A 100.0 58.7 17.5 41.2 41.3 36.0 5.3
50~59Al 100.0 65.7 26.3 39.5 34.3 29.8 45
60M O A 100.0 56.0 16.7 39.4 44.0 35.9 8.1
65M O A 100.0 53.7 14.4 39.3 46.3 38.0 8.3
s 8
z 2 o & 100.0 51.5 1.8 39.8 485 40.4 8.1
= Z 100.0 60.6 19.6 411 39.4 30.6 8.8
tf £ o At 100.0 69.1 29.4 39.7 30.9 24.5 6.4
(ZOISENE
oj k= 100.0 62.1 16.1 46.0 37.9 26.2 1.7
Hj 9 2} 9 & 100.0 63.5 22.8 40.7 36.5 29.9 6.6
AE /o E 100.0 47.0 13.5 335 53.0 44.8 8.2
(BAHZFE
Ed o 100.0 64.8 22.9 41.9 35.2 28.9 6.2
AD QI HpBE 100.0 51.1 14.0 37.0 48.9 383 10.6
CA Y 8D
A2 /g 100.0 74.2 40.6 335 25.8 19.0 6.9
At =] 100.0 73.3 16.4 56.9 26.7 25.3 1.4
A H| A /THOj 100.0 56.4 24.1 323 436 37.1 6.5
= 2 of o 100.0 63.4 20.9 425 36.6 29.8 6.8
s/ 28 100.0 62.1 14.1 47.9 37.9 30.2 7.7
= ol 100.0 79.1 30.9 48.3 20.9 17.4 35
Tt as58>
1008+l O]9t 100.0 35.0 6.4 28.6 65.0 52.5 12.4
100~2009+ 100.0 51.6 13.7 37.9 48.4 431 5.3
200~3009+H 100.0 63.8 15.1 48.7 36.2 27.8 8.4
300~4000t 100.0 64.1 17.9 46.2 35.9 29.0 6.9
4000+ O] A} 100.0 76.5 383 38.2 23.5 21.6 1.9
2025\ HeteEE Z/dT AIBIZRAL



2 -5 FAAP UAZ: - (1) F=

cr9l : %)

B | oA | 2w | ome | gz | ms | @x | oz | oe
20tz | gorE N

2025 4 100.0 10.7 24 83 30.7 58.6 30.4 282
20234 100.0 12.9 26 10.3 39.2 48.0 236 24.4
<2 Qe
z = g 100.0 48 1.0 3.9 30.0 65.2 326 326
2 = o 100.0 6.6 1.8 48 26.8 66.6 30.5 36.1
N =2 2 100.0 21.9 53 16.6 328 453 26.8 18.5
Zzolay 100.0 13.9 2.7 11.2 33.0 53.1 29.3 238
<H g
Lt Zt 100.0 11.9 2.8 9.0 31.1 57.1 29.8 27.3
o 2t 100.0 9.5 20 75 303 60.2 30.9 29.3
R
15~29A 100.0 16.4 45 11.9 34.3 493 285 20.8
30~39A 100.0 23.3 75 15.9 208 55.8 33.1 22.7
40~49A 100.0 12.1 19 10.2 37.0 50.9 25.2 25.6
50~59 A 100.0 11.1 2.2 8.9 31.2 57.6 288 288
60M O At 100.0 6.5 1.2 5.3 29.8 63.6 32.2 315
65AM O At 100.0 6.8 1.0 5.8 32.4 60.8 29.9 31.0
-
z = o & 100.0 6.4 0.8 5.6 34.1 59.5 29.1 30.4
Il = 100.0 10.9 37 7.3 30.8 58.2 32.9 25.4
o = o] A 100.0 15.9 32 12.7 26.2 57.8 29.4 28.4
(ZOIAENE)
i s 100.0 14.1 2.4 11.7 36.7 49.1 288 20.4
Hi 2 29 S 100.0 10.7 3.0 7.7 26.6 62.7 31.3 31.4
Ae /ol & 100.0 7.0 0.6 6.5 37.1 55.9 29.3 26.6
(BAESE
2 o 100.0 12.2 2.3 9.9 28.2 59.6 315 28.1
ADI D HpRIEE 100.0 83 26 5.7 34.8 56.9 28,5 28.4
<A Y g
Mo /e 100.0 11.4 46 6.8 25.6 63.0 343 28.7
n [=] 100.0 136 0.0 136 325 53.9 25.8 28.1
M H| A /THOj 100.0 6.8 19 4.9 236 69.6 37.4 32.2
= 2 o of 100.0 9.2 0.3 8.8 32.2 58.7 32.9 25.8
N /e m 100.0 12.3 0.4 11.9 30.9 56.8 24.4 32.4
2 ol 100.0 50.1 19.8 30.4 22.4 27.4 17.0 10.5
OtRLSE
1000+ Ojgt 100.0 7.1 1.1 6.0 37.8 55.1 29.0 26.0
100~2008+) 100.0 11.7 19 9.8 33.1 55.2 30.4 24.8
200~3008+2 100.0 2.9 0.7 2.3 28.9 68.2 33.1 35.0
300~4000+2 100.0 12.9 36 9.2 22.1 65.0 33.7 31.3
4008t oAt 100.0 13.7 47 9.0 275 58.8 29.3 29.5
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2 -5 FHEF UZE - (2) 7|MAH

£l : %)

B | oA | 2w | ome | gz | ms | @x | oz | oe
20tz | gorE N

2025 4 100.0 9.4 2.2 7.2 334 57.2 311 26.1
20234 100.0 10.5 3.0 7.6 39.3 50.2 25.8 24.4
CAL g &5
z = g 100.0 5.9 2.2 37 28.8 65.4 34.1 31.2
2 = g 100.0 12.6 4.1 85 303 57.0 26.0 31.0
N 2 A 100.0 13.2 1.1 12.1 396 47.2 26.7 205
Zzolay 100.0 10.4 19 8.4 395 50.1 335 16.6
=
Lt at 100.0 9.5 2.1 75 345 56.0 30.1 25.8
o Zt 100.0 9.2 23 6.9 323 58.4 32.1 26.4
(A
15~29A 100.0 4.6 1.8 2.9 48.0 47.3 27.7 19.7
30~39A 100.0 1.1 2.0 9.1 338 55.0 40.1 14.9
40~49A 100.0 9.0 1.0 8.1 438 471 26.2 20.9
50~59 A 100.0 14.4 48 9.6 313 54.3 28.2 26.1
60M O At 100.0 8.4 16 6.8 28.1 63.6 326 30.9
65AM O At 100.0 8.6 1.1 75 29.8 61.6 31.9 29.7
<ot
z = o & 100.0 7.5 1.1 6.4 34.2 58.3 29.0 29.3
Il = 100.0 8.8 2.0 6.9 34.9 56.3 30.9 25.4
o = o] A 100.0 12.4 38 85 30.9 56.7 34.0 227
(ZQIAYER )
i k3 100.0 5.4 1.7 37 44.3 50.3 315 18.8
Hi © 2t 9 2 100.0 1.1 26 85 29.8 59.1 30.8 283
Ae /ol & 100.0 83 16 6.7 33.2 58.5 31.4 27.1
(BAESE
2 o 100.0 10.7 2.2 85 32.2 57.0 315 25.6
ADI D HpRIEE 100.0 7.2 2.1 5.1 35.4 57.4 30.5 27.0
(Y
Mo /e 100.0 14.8 6.1 8.7 26.8 58.3 34.1 24.2
n =] 100.0 11.3 0.0 11.3 37.7 51.0 26.5 245
M H| A /THOj 100.0 7.6 38 38 31.2 61.3 325 2838
= 2 o of 100.0 14.0 0.8 132 31.8 54.2 31.4 22.8
-] 100.0 5.7 2.0 38 30.4 63.8 32.1 31.7
2 ol 100.0 15.4 0.0 15.4 53.8 30.8 20.4 10.4
OtRLSE
1000+ Ojgt 100.0 7.3 19 55 36.9 55.8 29.7 26.1
100~2008+) 100.0 12.7 16 11.1 26.4 60.9 33.1 27.9
200~3008+2 100.0 1.3 0.0 1.3 25.9 72.8 36.8 36.0
300~4000+2 100.0 8.9 25 6.5 28.4 62.7 31.0 31.7
4008t oAt 100.0 17.6 6.8 10.8 31.9 50.5 26.5 24.0
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T2 | oA | =ws | oe | ow | =8 | o | o7 | B | as
S0rE | 2OIE BHE | orE

2025 4 100.0 6.1 2.1 4.0 32.8 57.4 30.2 27.2 3.7
20234 100.0 12.7 3.4 9.3 39.1 45.4 19.0 26.4 2.7
<2 Qe

z = 3 100.0 5.2 2.5 2.7 30.4 60.8 29.1 31.7 35
2 = g 100.0 2.3 1.0 1.3 34.0 55.6 26.4 29.2 8.1
N =2 o 100.0 1.3 3.2 8.2 37.0 49,5 286 20.8 2.2
ZF=oaxy 100.0 4.7 0.7 3.9 322 60.8 380 228 2.3
<M g

Lt p 100.0 6.2 2.4 38 332 58.0 30.6 27.4 2.6
ol Zt 100.0 6.1 1.9 4.2 325 56.6 29.7 27.0 48
<A FED

15~29A 100.0 5.8 1.8 4.0 49.1 44.1 233 20.8 1.0
30~39A 100.0 12,6 7.0 5.7 29.3 56.0 39.0 17.0 2.0
40~49 A 100.0 7.4 1.5 5.9 37.2 53.8 296 24.2 1.6
50~509 Al 100.0 10.0 3.4 6.7 29.4 58.2 296 286 2.3
60M O At 100.0 3.3 1.1 2.2 29.7 61.4 30.6 30.8 5.6
65AM O At 100.0 3.2 0.9 2.3 31.0 59.3 295 29.8 6.6
-

z = o & 100.0 2.8 0.7 2.1 34.2 56.0 27.2 288 7.0
i £ 100.0 7.1 3.9 3.1 332 58.1 31.1 27.1 1.5
o = o] A 100.0 9.4 2.1 7.3 30.7 58.3 330 253 1.6
(ZOIAEN)

O| T 100.0 4.9 1.5 3.4 47.1 46.3 27.1 19.2 1.7
Y © 2t 9 & 100.0 7.6 3.0 46 27.3 62.3 32.1 30.3 2.8
Ate /ol & 100.0 3.0 0.2 2.8 35.0 53.6 27.4 26.2 8.4
(BAHEEE>

2 of 100.0 7.0 2.2 4.8 332 58.0 30.7 27.2 1.9
ADI D HpRIEE 100.0 48 2.1 2.7 322 56.4 29.2 27.2 6.6
R

A2/ B g 100.0 9.0 1.3 7.7 26.6 63.7 40.4 233 0.7
Ab o 100.0 2.2 1.4 0.8 49.8 480 249 23.1 0.0
A H| A /Tt Of 100.0 9.0 4.0 5.0 29.8 57.2 255 316 4.0
= 2 o of 100.0 43 0.5 3.8 36.6 56.9 323 246 2.2
=] 100.0 5.3 1.3 4.0 28.1 65.2 31.2 340 1.3
2 ol 100.0 22.3 10.4 12.0 32.8 44.9 275 17.4 0.0
THHA258

1000te! Ojat 100.0 3.3 0.7 26 35.3 49.8 29.3 205 11.6
100~2008+ 100.0 2.8 0.0 2.8 31.3 64.7 337 31.0 1.2
200~3008+2 100.0 2.2 0.6 1.6 30.4 66.0 29.4 366 1.4
300~4008t2] 100.0 7.0 2.3 46 28.4 64.0 30.5 335 0.7
4008t oAt 100.0 11.9 6.7 5.2 30.2 56.5 29.8 26.7 1.5
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2 - 6. AELT UZE - (1) AUHA/OISHA
Tl 1 %)
2 o2 | oA |=ez| ooe | o9z | =5 | oz | gz | e | AT
gotz | goiz oz | o= | %8
2025 9| 1000 4.8 53 95 263 347 204 143 24.2
20234| 1000 13.8 48 9.0 235 26.3 115 148  36.4
TS
= = al 1000 5.0 0.8 42 239 427 228 198 285
=2 =l | 100.0 9.5 3.1 6.4 25.5 41.0 245 16.5 239
4 = @[ 1000 238 91 147 307 263 179 84 192
F=oamy| 1000 320 134 186 269 206 140 66 205
TR
= At 100.0 14.5 6.0 8.5 24.7 31.6 18.1 13.5 29.2
o At 100.0 15.1 4.5 10.6 279 38.0 22.8 15.2 19.0
o>
15~294 | 1000 20.3 9.2 11.1 328 367 233 134 103
30~394 | 1000 17.6 9.6 80 307 27.5 233 42 24.2
40~49A4 | 1000 16.4 5.2 11.1 254 273 13.1 142 308
50~59 4| 1000 11.9 4.4 75 26.5 215 12,0 95 401
60AM Of 4t 100.0 13.7 39 9.8 24.0 42.4 24.2 18.2 20.0
654 olA| 1000 14.0 36 104 247 434 248 186 17.9
Cote oy
Z2 Z o] 3} 100.0 14.8 3.9 10.8 23.2 45.2 26.1 19.1 16.8
o =| 1000 14.4 47 9.7 29.2 305 21.0 9.5 258
I & o 4 100.0 15.2 7.5 7.6 27.2 25.6 12.5 13.1 32.1
CZOINERE)
0| = 100.0 15.9 6.6 9.3 324 33.6 239 9.7 18.1
oz e| 1000 151 5.5 96 235 334 173 161 280
A /o= 1000 127 3.3 9.4 284 399 261 138 190
AALS
Z| o 100.0 13.1 49 8.1 25.9 30.7 17.2 13.6 30.3
AR Ol HPREE 100.0 17.6 58 11.8 26.9 41.3 25.7 15.6 14.2
CA Yy
Ao /me| 1000 124 7.2 52 268 273 163 110 335
At = 100.0 9.5 4.9 4.6 38.9 259 15.9 10.0 25.8
MHA/mof | 1000 9.4 15 79 235 332 152 179 339
L a2 o o 100.0 13.3 3.5 9.8 229 35.9 18.4 17.5 279
s/ =8 100.0 10.6 3.1 7.5 245 30.9 21.6 9.3 33.9
= ol 100.0 31.3 24.3 7.0 30.3 239 10.4 13.5 14.5
OtRASE
1000tg OgF| 1000 156 52 104 263 453 299 154 128
100~2008td | 100.0 17.8 48 130 309 295 135 16.0 217
200~3008t | 100.0 13.9 5.4 85 27.2 333 147 186 257
300~4000t8d | 100.0 6.6 3.4 3.2 251 303 218 85 380
400atel ojar | 100.0 12.3 56 6.7 245 238 89 150  39.4
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2 -6 1FsH UFZE - (2) AQJ/AEHA
cr9l : %)
et
TR | A [ 2um | o | o | =5 | @x | ozt | me | 0S
20z | g0rE oz | oarm | %S
2025 4 100.0 12.8 46 82 26.1 317 186 13.1 295
20234 100.0 11.8 4.4 7.4 23.2 24.8 11.9 12.9 40.1
CA g &
z = g 100.0 45 0.5 4.0 24.4 37.4 20.3 17.1 33.7
2 = g 100.0 6.2 1.8 4.4 21.9 37.1 224 14.7 34.7
N o2 - 100.0 24.3 7.5 16.8 30.5 22.9 15.4 75 22.2
ZF=oaxy 100.0 236 135 10.2 27.9 24.3 15.3 9.0 24.2
<H g
Lt Zt 100.0 12.3 48 7.5 24.4 29.8 16.7 13.2 33.4
ol 2t 100.0 13.2 4.4 8.9 27.9 336 206 13.0 25.3
a3 8o
15~209A4 100.0 18.2 7.9 10.3 339 35.5 23.1 12.4 12.4
30~39A4 100.0 18.7 6.9 11.8 276 285 22.2 6.2 25.2
40~49A 100.0 9.5 2.8 6.7 29.3 27.0 13.9 13.1 34.1
50~509 Al 100.0 9.7 3.1 6.6 26.9 20.3 10.9 9.4 43.1
60M O At 100.0 12.3 4.4 7.9 22.8 36.7 20.9 15.8 28.1
65AM O At 100.0 12.8 4.0 8.7 23.4 36.2 21.1 15.2 27.6
-
z = o & 100.0 13.3 3.4 9.9 223 38.3 226 15.7 26.1
Il £ 100.0 11.8 5.7 6.2 29.2 29.1 19.6 95 29.8
o = o] A 100.0 13.1 5.1 8.0 27.7 25.8 12.4 134 335
(ZQIATER )
o| s 100.0 14.1 4.7 9.4 32.1 31.3 23.1 8.2 22.4
HY S 2} Q1 2 100.0 133 5.0 8.3 238 31.1 15.6 155 31.8
Ad /o E 100.0 9.8 3.4 6.4 26.9 336 23.0 10.6 29.7
(BAESE
2 of 100.0 12.6 4.9 7.8 24.6 29.4 16.2 133 33.4
ADI D HpRIEE 100.0 13.0 4.2 8.8 286 35.3 225 128 23.1
(Y
e/ ng 100.0 6.6 3.9 2.7 25.6 29.2 17.7 115 386
At [=] 100.0 13.4 5.2 8.2 39.7 19.9 11.4 8.4 27.0
M H| A /T O} 100.0 10.3 2.9 7.5 20.3 326 15.3 17.3 36.7
= 2 o of 100.0 136 5.2 8.4 21.2 34.1 19.4 14.7 31.1
=] 100.0 12.6 2.9 9.6 23.0 283 17.0 1.3 36.1
2 ol 100.0 27.8 17.3 10.5 30.3 20.4 3.4 17.0 215
OtRLSE
1000+l Ojot 100.0 12.8 4.2 8.6 23.2 36.4 24.2 123 276
100~2008+ 100.0 14.7 6.3 8.4 314 27.8 13.7 14.1 26.1
200~3008+2 100.0 15.8 4.2 11.6 275 27.1 9.9 17.2 29.5
300~4008t2] 100.0 9.1 2.7 6.4 216 35.1 24.7 10.4 34.2
4008t oAt 100.0 9.1 3.9 5.2 23.2 25.4 9.4 16.1 42.2
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2 - 6. 4T VIE - (3) YA
=Rl - %)
22 oA |=uzs| ooe | an | =5 | wzx | on | me | M
2oz | goiz oz | oz | %S
2025 4| 1000 54 6 38 270 426 245 8.2 25.0
202 34| 1000 8.1 35 4.5 233 320 15.1 168 367
ZEEE
= = A 100.0 2.7 0.2 2.5 20.2 47.0 27.0 20.0 30.0
= = @] 1000 42 2.9 13 286 424 251 173 247
A4 = @[ 1000 8.1 2.8 53 368 345 201 144 207
F=oamy| 1000 9.5 2.5 70 293 428 236 192 184
TR
= At 100.0 4.8 1.8 3.0 25.2 40.5 234 171 29.5
o At 100.0 6.0 1.5 45 28.8 449 25.6 19.3 20.3
TELR
15~294 | 1000 43 18 26 386 471 316 156 9.9
30~394 | 1000 121 4.0 82 360 291 20.8 83 227
40~49A4 | 1000 7.8 1.0 68 265 332 189 144 325
50~59 4| 1000 6.4 2.8 36 224 305 16.7 138 407
60AM o4 100.0 3.5 0.9 2.6 24.4 50.9 27.7 23.1 21.3
654 o A| 1000 38 0.7 3.1 244 516 288 229 20.2
TELR
Z2 Z o] 3} 100.0 3.6 0.3 3.3 23.8 53.7 30.3 234 18.9
i = 100.0 5.6 2.6 3.0 30.8 383 24.6 13.7 253
I & o 4 100.0 7.5 2.4 5.1 27.0 33.0 17.0 16.0 325
o
0| = 100.0 4.2 0.5 3.7 36.0 431 30.5 12.6 16.8
oz e| 1000 5.7 2.1 36 245 408 205 203 290
Arg /o= | 1000 5.7 1.4 42 252 478 305 173 214
GHEED
2 A 100.0 4.6 1.7 3.0 25.7 38.7 20.8 179 31.0
AR Ol HPREE 100.0 6.6 1.6 5.1 29.1 492 30.6 18.6 15.1
CHY
A2 /2a| 1000 6.3 2.7 36 281 328 179 149 327
At = 100.0 3.0 0.9 2.1 379 356 19.5 16.1 23.6
MHA/mof | 1000 34 15 19 174 436 220 215 356
w2 of o 1000 2.8 14 14 255 429 204 226 287
s/ =8 100.0 3.0 0.7 2.4 21.6 39.1 256 134 36.3
= 0l 100.0 20.9 6.9 14.0 447 12.9 3.4 9.5 215
R
1008t Ojat | 100.0 6.6 0.7 59 281 490 312 178 162
100~2008td | 100.0 4.4 0.6 39 309 448 266 182 19.8
200~3000tgd | 100.0 35 1.1 24 256 440 207 233 269
300~4008t2 | 100.0 4.0 2.0 20 183 428 237 191 348
40038 ofA | 100.0 6.8 3.0 38 230 306 121 185 397
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2 - 6. RELT HZE - (4) ASHY/ZHH

(T2l %)
2o oA |=es| owe | oan | =5 | @ | oz | o | OF
g0z | 20= oz | ws | 99

20254 100.0 23 0.9 1.4 2.2 0.9 0.4 0.5 94.6
20234 100.0 0.8 0.4 0.4 1.5 0.4 0.2 0.2 97.2
ZETE
=z =2 3 100.0 1.7 0.2 1.4 2.3 0.9 0.8 0.2 95.2
2 =2 3 100.0 0.9 0.0 0.9 0.0 1.2 0.3 0.9 97.9
N 2 #H 100.0 5.8 3.2 2.6 3.6 0.6 0.0 0.6 90.1
F=oamy| 1000 0.5 0.5 0.0 2.0 0.9 0.0 09 95
TR
= At 100.0 1.8 1.1 0.7 2.6 0.6 0.2 0.4 95.0
o At 100.0 2.8 0.8 2.1 1.8 1.2 0.6 0.6 94.2
LR
15~29A 100.0 7.5 1.8 5.8 6.4 0.0 0.0 0.0 86.1
30~39A4 100.0 4.5 3.5 0.9 6.0 2.8 2.1 0.7 86.7
40~49 A 100.0 4.0 2.0 2.1 4.9 0.8 0.0 0.8 90.3
50~59MA 100.0 2.0 0.5 1.4 0.0 0.5 0.0 0.5 97.5
60AM o4 100.0 0.4 0.2 0.2 0.7 0.9 0.4 0.5 98.0
65AM oOfA4 100.0 0.3 0.3 0.0 0.6 0.8 0.2 0.6 98.3
CopE g
Z2 Z o] 3} 100.0 0.5 0.2 0.2 0.3 0.5 0.2 0.4 98.6
Inl z| 1000 2.6 1.3 1.3 2.7 11 0.7 04 935
I & o 4 100.0 4.3 1.4 2.9 4.0 1.1 0.3 0.8 90.5
EAXED
0| = 100.0 4.4 0.0 4.4 4.7 1.2 0.9 0.3 89.7
ozoe| 1000 2.1 1.4 0.6 18 0.9 0.3 06 953
At /ol & 100.0 1.0 0.5 0.5 0.9 0.5 0.0 0.5 97.6
FNTED
Z| o 100.0 3.2 1.2 2.0 24 1.2 0.5 0.7 93.2
AR Ol HPREE 100.0 0.9 0.6 0.4 1.9 0.3 0.2 0.2 96.9
TR
A2/ 2| 1000 2.2 1.3 0.9 0.9 0.0 0.0 00 969
At = 100.0 6.9 0.0 6.9 5.8 35 23 1.2 83.9
M| A~/oof | 100.0 15 0.0 15 2.7 10 0.6 03 948
L a2 o o 100.0 0.6 0.6 0.0 1.4 1.5 0.3 1.2 96.5
s /w2 1000 1.8 18 0.0 0.0 1.1 0.0 1.1 97.1
= ol 100.0 18.0 10.4 7.6 10.5 0.0 0.0 0.0 71.5
Gtras
17000ted gjat | 100.0 0.0 0.0 0.0 0.0 0.9 0.4 04 991
100~2002+] 100.0 3.2 0.0 3.2 0.0 0.6 0.0 0.6 96.2
200~300%+d 100.0 4.1 0.0 4.1 24 1.0 0.0 1.0 92.5
300~4000t8d | 100.0 3.7 2.4 1.2 25 0.0 0.0 00 939
400atel ojar | 100.0 2.1 1.4 0.7 33 1.0 0.3 07 936
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2 - 7. AGYAZAZ L HRAN - (1) WY HF2|

(CH9 © %)

Q2w 2 1~5 | 5~104 [ 10~154 | 15~20E | 20~254 | 25~301E | 304
|2k aj gt aj gt aj gt aj gt aj gt ol

2025 4 100.0 7.8 7.7 6.5 49 8.0 48 60.3
20234 100.0 10.7 7.9 8.5 7.1 8.1 4.9 52.8
<2 Qe
z = g 100.0 4.0 4.0 3.7 6.5 9.4 5.9 66.4
2 = 100.0 0.6 115 6.0 35 3.7 3.1 71.6
N o2 - 100.0 15.9 10.8 7.9 48 9.9 38 47.0
Zzolay 100.0 12.6 9.7 12.0 2.1 5.7 46 53.3
<N g
Lt 2t 100.0 9.7 8.7 6.7 46 9.4 3.8 57.1
ol 2t 100.0 5.8 6.6 6.2 5.2 6.6 5.8 63.7
<A g &>
15~209A4 100.0 11.2 10.4 1.8 24.2 30.7 18.1 3.7
30~39A4l 100.0 26.7 10.6 8.2 1.3 45 4.6 44.1
40~49A 100.0 15.3 135 8.9 5.8 7.4 3.0 46.2
50~509 Al 100.0 5.8 11.0 9.1 2.7 8.2 3.2 60.0
60M O At 100.0 26 38 5.7 1.4 3.1 25 80.7
65M O At 100.0 25 33 45 1.3 1.8 1.2 85.4
-
z = o & 100.0 2.1 38 3.2 6.9 2.2 16 80.1
Il £ 100.0 5.6 9.8 8.3 36 12.8 5.3 54,7
o = o] A 100.0 17.4 10.5 8.8 3.7 10.5 8.3 40.8
(ZOIAEN)
o| s 100.0 8.2 8.4 35 14.9 21.0 11.5 32.4
HY S 2} Q1 2 100.0 9.5 88 8.4 2.8 5.5 3.0 62.0
Ad /o 100.0 2.2 37 3.8 0.9 2.3 3.1 83.9
(BAHESE
2 o 100.0 8.4 86 7.8 2.9 7.8 5.9 58.6
ADI D HpRIEE 100.0 6.9 6.2 4.4 8.1 8.4 2.9 63.2
(Y
e/ ng 100.0 14.4 12.9 6.4 1.4 11.3 6.7 47.0
At o 100.0 9.3 7.2 4.2 8.3 11.6 17.0 42.3
M H| A /T O} 100.0 3.0 12.7 9.2 1.3 8.0 3.9 61.9
= 2 of of 100.0 2.4 2.8 7.4 2.3 1.9 15 81.8
=] 100.0 2.7 7.7 9.1 25 7.1 6.7 64.3
2 ol 100.0 58.1 12.0 12.0 7.0 11.0 0.0 0.0
OtHAE5E
1000t Ojot 100.0 2.4 1.9 1.1 1.4 2.3 26 88.3
100~2000t] 100.0 6.2 5.1 7.0 1.8 5.3 4.7 69.9
200~3008+2 100.0 48 7.9 6.8 0.4 10.0 5.3 64.9
300~4008+2 100.0 9.5 12.1 6.4 4.7 4.4 0.7 62.3
4008t oAt 100.0 16.2 95 10.2 2.7 9.2 4.1 48.0
20254 et ZET AIRI2AL
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2 - 7. AGAHRIIZE L HFAA - (2) B8 AR

(9] : %)

Q2w 2 1~54 | 5~104 | 10~15E | 15~204 [ 20~25 | 25~30 | 304
ot o|gt ojgt o|gF ojgt ojgt” [ oy

2025 4 100.0 10.9 85 8.0 5.7 7.6 55 53.8
20234 100.0 11.9 8.4 8.8 7.7 7.9 4.9 50.3
<2 Qe
z = 3 100.0 8.6 47 4.9 7.0 8.4 6.6 59.8
2 = 100.0 3.2 12.4 9.5 4.9 4.9 4.4 60.6
N o2 - 100.0 17.4 125 8.9 6.4 8.4 4.2 42.1
Zzolay 100.0 14.4 9.3 13.7 1.8 6.5 5.4 49.0
<N g
Lt Zt 100.0 13.3 9.9 8.5 5.7 9.0 4.2 49.4
ol 2t 100.0 8.4 7.1 75 5.6 6.0 6.9 58.5
R
15~209A4 100.0 19.4 10.4 1.8 25.2 24.4 17.0 1.8
30~39A4l 100.0 36.6 9.8 6.1 1.3 6.6 46 35.0
40~49A 100.0 16.7 13.7 12.3 48 7.9 4.1 40.5
50~509 Al 100.0 8.7 126 11.7 26 6.6 5.9 51.9
60M O At 100.0 3.7 5.0 7.4 3.0 3.9 3.0 74.0
65M O At 100.0 3.0 4.1 6.2 2.1 2.7 1.2 80.7
-
z = o & 100.0 2.8 4.4 3.9 8.0 2.8 2.2 76.0
Il £ 100.0 8.2 10.6 11.3 36 12.3 6.4 47.7
o = o] A 100.0 24.1 11.7 9.9 48 8.8 8.8 31.9
(ZOISEIE>
o| s 100.0 17.3 9.1 46 15.5 18.4 10.8 24.3
Y © 2t 9 & 100.0 11.3 9.4 9.9 3.3 55 48 55.8
Ae /ol & 100.0 33 5.0 5.8 26 2.7 2.0 78.5
(BAHESE
2 o 100.0 12.7 9.7 9.2 4.0 7.0 6.7 50.8
ADI D HpRIEE 100.0 8.0 6.6 6.1 8.3 8.5 35 58.9
KR
e/ ng 100.0 23.0 14.9 9.3 0.7 9.7 75 35.0
At [=] 100.0 17.9 9.8 2.3 10.0 5.8 17.1 37.1
M H| A /T O} 100.0 6.6 12.7 10.3 3.2 9.5 36 54.0
= 2 of of 100.0 3.1 2.8 8.4 33 3.0 4.7 74.7
=] 100.0 7.3 9.6 11.3 25 6.4 7.0 55.9
2 ol 100.0 62.1 12.0 12.0 7.0 7.0 0.0 0.0
OtHAE5E
1000t Ojot 100.0 3.2 25 2.3 26 35 3.0 82.7
100~2008+ 100.0 11.0 86 7.5 2.2 3.9 6.5 60.4
200~3008+2 100.0 13.7 9.0 6.8 45 5.8 4.4 55.8
300~4008t2] 100.0 14.3 11.0 8.9 4.4 5.4 1.4 54.6
4008t oAt 100.0 17.8 115 13.8 3.9 7.9 4.2 41.0
2025\ Hetde /gt AR EAL



2 - 7. AGAFIIL L HFoAA - (3) 10 T HFAA(MY)

: %)

= aFA| Al
S A it Y| oe | msoln| 2w | oo -
wo|c} Ho|Ct =}

2025 4 100.0 13.6 36 9.9 12.4 74.1 39.0 35.1
20234 100.0 1.1 3.2 7.9 17.3 71.6 36.7 34.9
Ao
=z =2 3 100.0 12.6 4.9 7.7 12.2 75.2 41.6 33.7
2 =2 3 100.0 5.1 1.1 4.1 11.3 83.6 253 58.3
N =2 oA 100.0 14.7 32 11.5 15.4 69.9 455 24.4
Fzolay 100.0 21.7 3.3 18.4 9.7 68.6 35.1 336
<A D
2 At 100.0 14.8 4.3 10.5 12.7 72.5 39.0 33.5
o At 100.0 12.3 29 9.3 12.0 75.8 39.0 36.7
g g g
15~29A 100.0 52.3 7.8 445 26.6 21.2 17.1 4.0
30~39A 100.0 21.0 7.2 13.8 31.8 47.2 37.3 9.8
40~49A 100.0 13.3 6.6 6.7 21.1 65.6 42.4 23.2
50~509 Al 100.0 12.4 4.2 8.3 5.9 81.7 50.3 31.3
60AM o4 100.0 3.2 1.0 2.1 5.8 91.0 39.5 51.6
65AM oOfA4 100.0 3.1 1.1 2.0 4.2 92.8 39.1 53.7
-
Z2 Z o] 3} 100.0 7.1 2.1 5.0 5.9 87.1 34.9 52.2
i = 100.0 18.7 4.9 13.8 14.5 66.8 40.1 26.7
I & o 4 100.0 16.6 4.3 12.3 18.4 65.0 43.0 22.0
(ZQIATEN >
0| = 100.0 35.5 7.3 28.2 28.6 35.9 25.0 10.9
HY 2 2t 9 2 100.0 8.9 29 6.0 8.1 83.0 443 38.7
A" /o & 100.0 5.1 2.0 3.1 8.6 86.2 37.3 49.0
(BAEEE>
Z| o 100.0 12.4 3.7 8.7 12.7 75.0 41.6 334
AR Ol HPREE 100.0 15.5 35 12.0 11.9 72.6 34.7 37.9
R
A2 /1o g 100.0 17.4 4.2 13.2 11.9 70.7 411 29.6
At = 100.0 18.5 4.7 13.9 34.2 47.3 31.0 16.3
M H| A/ THOY 100.0 11.7 43 7.4 6.3 82.0 45.0 36.9
= 2 of o 100.0 3.7 2.0 1.6 6.9 89.5 411 48.4
N5/ 100.0 9.6 3.3 6.2 4.6 85.8 51.6 34.2
= ol 100.0 358 8.5 27.3 279 36.3 328 3.5
(A RE N
1008+l 0ot 100.0 1.3 0.7 0.6 5.6 93.1 38.8 54.4
100~2008+2 100.0 7.4 17 5.7 10.0 82.6 45.3 37.3
200~3008+2 100.0 12.3 2.2 10.1 14.4 73.3 375 35.9
300~4000+ 100.0 14.4 6.8 7.6 8.8 76.8 46.6 30.3
4008t8) oAt 100.0 9.7 2.4 7.3 11.0 79.3 41.2 38.1
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2 - 7. AGAFIIL L HFoAA - (4) 100 T HFAM(ZEZ)

: %)

= aFA| Al
S A it | we | =EeM| awe | o -
AT molct | amr

2025 4 100.0 13.6 33 10.3 11.9 74.5 40.0 345
20234 100.0 12.4 3.7 8.7 17.9 69.6 35.4 34.2
CAL 9 g5
z =2 3 100.0 12.4 37 8.7 10.8 76.8 433 335
2 =2 3 100.0 4.4 0.3 4.1 11.9 83.7 28.8 54.8
N =2 oA 100.0 15.8 46 11.2 15.5 68.8 45.0 238
= 100.0 21.2 3.1 18.2 10.1 68.6 345 34.2
<A D
2 At 100.0 14.7 3.6 11.1 12.8 72.5 39.9 32.6
of 2t 100.0 12.4 3.0 9.4 11.0 76.6 40.2 36.4
@
15~29A 100.0 53.4 9.5 43.8 25.5 21.2 18.9 2.3
30~39A 100.0 21.9 85 13.4 275 50.6 40.7 9.8
40~49A 100.0 13.7 5.0 8.7 21.1 65.2 43.8 21.5
50~509 Al 100.0 11.4 3.0 8.4 7.2 81.4 50.6 30.8
60AM o4 100.0 3.0 0.5 25 5.5 91.5 40.2 51.3
65AM oOfA4 100.0 3.0 0.7 23 4.2 92.8 39.1 53.7
-
Z2 Z o] 3} 100.0 7.4 1.8 5.5 5.1 87.6 35.1 52.5
i Z 100.0 18.1 4.0 14.1 15.0 66.8 40.7 26.1
I & o 4 100.0 16.8 4.5 12.3 17.5 65.7 45.7 20.0
(ZAIAERED
0| = 100.0 36.7 8.3 28.4 259 37.4 27.8 9.6
Y 2 29 & 100.0 8.5 2.3 6.2 8.6 82.9 44.8 38.2
A" /o & 100.0 5.1 1.3 3.9 7.8 87.1 38.3 48.8
(BAEEE>
2 A 100.0 12.0 3.2 8.8 12.7 75.3 43.0 32.3
AR Ol HPREE 100.0 16.0 3.4 12.6 10.8 73.2 35.2 38.0
<y
A2 /1o g 100.0 17.4 4.2 13.2 12.8 69.8 40.2 29.6
At = 100.0 20.2 7.3 12.9 30.2 49.6 35.9 13.7
M H| A/ THOY 100.0 11.9 29 9.0 5.9 82.2 48.1 341
L a2 o o 100.0 2.2 0.5 1.6 6.9 90.9 42.3 48.6
N5/ 100.0 8.3 1.5 6.8 7.8 84.0 50.5 33.4
= ol 100.0 39.3 11.9 27.4 279 328 29.3 3.5
(A RE N
1000t Ojgt 100.0 1.7 0.7 1.0 5.7 92.6 38.4 54.2
100~2008+2 100.0 8.0 13 6.7 9.3 82.7 45.9 36.8
200~3000tS 100.0 1.4 2.0 9.3 10.6 78.0 45.4 32,6
300~4000+ 100.0 14.4 45 10.0 8.3 77.2 46.5 30.8
4008t8) oAt 100.0 9.7 3.2 6.5 12,6 77.7 418 35.9
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2 - 8. x| SFEX

(29l : %)

22| oA | o | & | e | msonr| awo | om | oo
act | molct sl s

2025 4 100.0 31.3 6.2 25.2 433 25.3 205 48
20234 100.0 33.9 6.6 27.3 51.5 14.6 11.8 2.8
CAL 9 g5
=z =2 3 100.0 30.9 8.6 22.2 43.8 253 20.3 5.0
2 = 3 100.0 19.4 2.1 17.3 48.7 31.9 22.8 9.1
N o2 100.0 35.9 43 31.6 4.7 22.4 18.8 3.7
= 100.0 36.4 6.0 30.4 39.7 23.9 21.7 2.2
<K
=k At 100.0 32.2 6.8 254 44.3 235 18.7 4.8
o At 100.0 30.4 5.6 24.8 42.3 27.3 225 4.8
A
15~29 Al 100.0 44.4 8.9 35.4 432 12.5 12.5 0.0
30~39A 100.0 39.4 8.8 30.6 44.2 16.4 14.4 2.0
40~49A| 100.0 413 86 32.7 40.8 17.9 13.7 4.2
50~59M4A 100.0 31.6 10.4 211 40.2 28.2 25.9 2.3
60K Of A 100.0 24.2 238 21.4 450 30.8 232 7.6
65AM oOfA4 100.0 24.3 2.8 21.4 457 30.0 22.0 8.0
LR
Z2 Z o] 3} 100.0 23.3 38 19.5 46.5 30.2 225 7.7
i Z 100.0 37.5 7.3 30.3 37.8 247 211 3.6
o = o A 100.0 35.2 8.1 27.1 451 19.7 17.4 2.3
(ZQIATER )
0| = 100.0 43.1 9.4 33.7 44.3 12.6 11.2 1.4
HY 2 2t 9l 2 100.0 29.7 5.9 23.8 4.4 28.9 23.9 5.1
AHe /ol & 100.0 24.1 37 20.4 483 27.6 20.0 7.6
(BAEEE>
2 A 100.0 32.5 6.7 25.8 431 24.4 20.5 4.0
AR Ol HPREE 100.0 295 5.4 241 43.7 26.8 20.6 6.2
SRR
=T 100.0 22.4 35 18.9 47.9 29.8 24.1 5.6
At [=] 100.0 358 7.2 286 45.6 18.7 18.7 0.0
A H| A /T Of 100.0 34.3 838 25.6 42.2 23.5 17.5 5.9
L a2 o o 100.0 31.2 4.6 26.6 41.5 27.2 22.9 4.3
N/ R 100.0 36.6 8.5 28.1 36.2 27.2 23.7 36
= ol 100.0 38.8 8.5 30.3 50.8 10.3 10.3 0.0
CAEENELD
1000t Ojgt 100.0 21.1 5.1 16.0 46.5 32.3 232 9.2
100~2000t 100.0 28.2 13 26.9 47.8 24.0 21.6 2.4
200~3002+2 100.0 32,5 45 28.0 45.7 21.7 19.2 2.6
300~4000+ 100.0 36.9 5.8 31.1 426 20.6 14.9 5.7
4008t8] o| A} 100.0 26.7 75 19.3 496 23.7 19.9 3.8
2025 Hetd® AT MEZA



T = Al Lot RS OfA| HRUAZ
20254 100.0 59.5 40.5
20234 100.0 63.4 36.6
<29
2 =2 100.0 59.3 40.7
g g9 3 100.0 53.2 46.8
N 2 H 100.0 64.4 35.6
FRolay 100.0 58.8 41.2
< =1
& At 100.0 70.6 29.4
q At 100.0 47.9 52.1
g g 2o
15~29A 100.0 46.7 53.3
30~39A 100.0 82.0 18.0
40~49A 100.0 77.9 22.1
50~59A 100.0 81.4 18.6
6 0A OfA 100.0 45.8 54.2
65 A O] At 100.0 41.1 58.9
<ot
= Z o] g} 100.0 38.7 61.3
il Z 100.0 64.2 35.8
o & o A 100.0 81.3 18.7
(ZQSEHED
| z 100.0 54.8 45.2
Hi & A Q! & 100.0 67.2 32.8
A /o & 100.0 41.0 59.0
(BAEEE>
2 o 100.0 94.0 6.0
AD QI HPRBE 100.0 2.9 97.1
g g
J 8 /3 g 100.0 98.6 1.4
At = 100.0 98.0 2.0
AN H| A /THOf 100.0 95.5 4.5
= 2 o o 100.0 87.3 12.7
Ns/ R 100.0 93.7 6.3
= ol 100.0 100.0 0.0
(A RE N
10022l O]3tk 100.0 17.8 82.2
100~2000r 100.0 67.8 32.2
200~300%t! 100.0 83.3 16.7
300~4008t2] 100.0 91.2 8.8
4002+ o|At 100.0 94.5 5.5
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2 -9 YA HEE - (2) St

EROl ¢ %)

B | oA | 2w | ome | gz | ms | @x | oz | oe
oz | 20rE oz | o

2025 4 100.0 11.1 0.5 10.6 47.0 418 30.0 11.9
20234 100.0 11.1 1.1 10.0 53.8 35.2 26.1 9.1
<2 Qe
z = g 100.0 13.8 0.4 13.4 45.7 40.5 30.7 9.7
2 = o 100.0 8.5 0.0 8.5 57.1 34.4 19.9 14,5
N =2 o 100.0 6.3 0.7 5.7 46.4 473 30.9 16.4
ZF=oaxy 100.0 135 0.7 12.8 436 42.9 345 8.4
<M g
Lt p 100.0 11.2 0.5 10.7 44.7 44.1 325 11.6
ol Zt 100.0 11.0 0.4 10.6 50.7 383 26.0 12.3
<A FED
15~29A 100.0 13.7 0.0 13.7 52.5 338 236 10.2
30~39A 100.0 3.4 0.0 3.4 54,7 41.9 31.0 10.9
40~49 A 100.0 8.8 1.2 7.5 44.8 46.5 29.3 17.1
50~509 Al 100.0 11.0 0.7 10.4 453 437 30.8 12.9
60M O At 100.0 14.0 0.3 13.7 45.4 40.7 30.9 9.7
65AM O At 100.0 12,6 0.5 12.1 46.1 41.4 32.0 9.4
-
z = o & 100.0 13.9 0.5 13.5 50.8 35.3 26.7 8.6
i £ 100.0 10.7 0.0 10.7 52.8 36.5 27.4 9.1
o = o] A 100.0 9.8 0.9 8.9 40.0 50.2 34.1 16.1
(ZQISEHEH
O| T 100.0 14.6 0.0 14.6 50.1 35.2 27.7 7.5
Y © 2t 9 & 100.0 9.0 0.5 8.5 46.3 44.7 30.9 13.7
Ate /ol & 100.0 16.9 0.9 16.0 46.2 36.8 28.3 8.5
AHBEL
2 of 100.0 10.8 0.3 10.5 47.2 42.0 30.3 1.7
ADI D HpRIEE 100.0 28.3 9.2 19.0 39.9 31.9 12.4 19.5
R
A2/ B g 100.0 7.0 0.0 7.0 28.7 64.3 39.7 246
Ab o 100.0 9.7 1.4 8.2 54,7 35.6 28.1 7.6
A H| A /Tt Of 100.0 11.9 0.0 11.9 51.6 36.5 30.1 6.4
= 2 o of 100.0 13.0 0.6 12.4 488 383 30.8 7.5
=] 100.0 14.9 0.0 14.9 45,6 39.5 26.0 135
2 ol 100.0 0.0 0.0 0.0 45,7 54.3 27.4 26.9
THHA258
1000te! Ojat 100.0 20.2 0.0 20.2 55.0 24.8 17.0 7.8
100~2008+ 100.0 17.1 13 15.8 57.0 25.9 20.7 5.2
200~3008+2 100.0 11.9 0.0 11.9 49.2 389 32.9 6.0
300~4002+2 100.0 8.9 0.0 8.9 51.1 40.1 306 9.5
4008t oAt 100.0 8.7 0.8 7.9 29.0 62.3 388 236
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2 - 9. YAZ WEE - (3) UB/HRLE

cr9l : %)

3 e A | geE | ome | gz | =5 | @E | ooz | ooe
20tz | gorE N

2025 4 100.0 186 25 16.1 453 36.1 26.5 95
20234 100.0 19.1 3.0 16.1 53.1 27.8 21.0 6.9
CAL g &5
z = g 100.0 17.6 09 16.8 49.6 32.8 238 9.0
2 = g 100.0 15.2 5.7 9.4 483 36.5 25.0 115
N =2 2 100.0 21.3 238 185 375 413 29.0 12.3
ZF=oaxy 100.0 19.9 39 16.0 43.7 36.4 31.2 5.2
<H g
Lt Zt 100.0 17.7 2.8 14.9 436 38.7 30.3 8.5
ol 2t 100.0 20.1 2.1 18.0 47.9 32.0 20.8 11.2
(A
15~209A4 100.0 21.8 0.0 21.8 51.5 26.6 16.4 10.2
30~39A4 100.0 16.2 1.7 145 51.0 32.8 26.1 6.8
40~49A 100.0 14.5 23 12.2 42.3 43.2 30.7 12,6
50~509 Al 100.0 15.3 2.4 12.9 457 39.0 28,5 10.4
60M O At 100.0 226 36 19.0 428 346 26.2 8.4
65AM O At 100.0 21.9 25 19.4 438 34.4 26.4 7.9
<ot
z = o & 100.0 22.8 45 18.3 438 33.3 25.4 7.9
Il £ 100.0 18.8 1.7 17.1 46.5 34.7 26.5 8.2
o = o] A 100.0 15.9 20 13.9 45.2 38.9 27.3 11.6
(ZQIATER )
o| s 100.0 25.2 19 233 50.5 24.3 18.1 6.2
Hi 9 2 9 & 100.0 16.1 2.4 13.7 438 40.2 29.4 10.8
Ate /ol & 100.0 22.2 37 18.4 457 32.1 24.0 8.1
(BAESE
2 of 100.0 18.3 23 15.9 456 36.2 26.9 9.3
ADI D HpRIEE 100.0 38.1 12.4 25.6 30.1 31.9 9.1 22.7
(Y
e/ ng 100.0 15.2 1.4 13.9 29.8 54.9 33.9 21.0
At [=] 100.0 16.4 1.4 15.0 54.5 29.1 24.2 4.9
M H| A /THOj 100.0 16.6 0.3 16.3 495 33.9 29.1 48
= 2 o of 100.0 23.3 59 17.3 45.4 31.3 25.9 55
N /e m 100.0 22.7 2.8 19.8 40.7 36.6 22.8 13.8
2 ol 100.0 7.0 0.0 7.0 49.8 43.2 29.4 13.9
IttasE
1000+l Ojot 100.0 375 9.0 285 46.4 16.0 8.4 7.7
100~2008+ 100.0 325 37 28.8 457 21.9 18.5 3.4
200~3008+2 100.0 27.3 6.2 21.1 47.2 25.5 21.7 3.7
300~4008t2] 100.0 12.2 0.8 11.4 53.9 33.9 286 53
4008t oAt 100.0 6.9 1.1 5.8 32.3 60.8 416 19.2
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2 - 9. gAE UEE - (4) 2EAN

(249l : %)
T+ = Al =05 < oFzt 2S k= oFzt 0 &
20tz | gorE N

2025 4 100.0 1.3 10 10.3 496 39.1 275 11.6
20234 100.0 11.3 1.3 10.0 57.4 31.3 23.4 7.9
<2 Qe
z = g 100.0 15.1 1.4 13.7 47.0 37.9 27.7 10.2
2 = g 100.0 7.3 0.5 6.8 53.5 39.2 24.1 15.1
N =2 o 100.0 7.9 0.7 7.2 49.1 431 27.0 16.0
=0l 100.0 9.7 0.7 8.9 54.0 36.4 30.2 6.1
<M g
Lt p 100.0 11.8 1.0 10.8 483 39.8 28.8 11.0
ol Zt 100.0 10.5 0.9 9.6 51.5 38.0 25.4 12,6
D
15~29A 100.0 11.3 0.0 1.3 57.6 31.1 20.9 10.2
30~39A 100.0 17.0 25 14.6 4.8 40.1 29.8 10.4
40~49 A 100.0 8.6 1.2 7.4 51.6 39.8 24.1 15.7
50~509 Al 100.0 8.6 0.7 8.0 483 431 29.3 13.8
60M O At 100.0 12.3 0.8 1.5 49.8 37.8 286 9.2
65AM O At 100.0 12.9 1.2 11.8 48.9 38.1 28.7 9.5
-
z = o & 100.0 12.7 1.2 1.5 51.5 35.8 25.2 10.6
i £ 100.0 11.4 0.0 11.4 53.7 34.9 25.5 9.4
o = o] A 100.0 10.3 16 8.7 45.1 44.6 30.6 14.1
(ZQISEHEH
O| T 100.0 17.1 16 15.5 52.9 30.0 24.1 5.9
HY S 2} Q1 2 100.0 9.2 0.7 8.5 48.2 426 29.1 13.4
Ad /o E 100.0 135 1.4 12.2 52.0 34.4 23.9 10.5
(BAHEEE>
2 of 100.0 11.0 0.8 10.2 49.6 39.4 28.0 11.4
ADI D HpRIEE 100.0 28.3 9.2 19.0 49.0 22.7 0.0 22.7
(Y
A2/ B g 100.0 8.7 0.0 8.7 34.1 57.2 34.0 232
Ab o 100.0 11.3 1.4 9.8 51.8 36.9 29.8 7.1
A H| A /Tt Of 100.0 12.8 1.7 11.0 53.2 34.1 27.6 6.4
= 2 o of 100.0 11.5 0.6 10.9 54.0 345 27.9 6.6
=] 100.0 11.3 0.0 1.3 45.2 435 27.7 15.8
2 ol 100.0 35 0.0 35 52.7 438 20.5 23.4
THHA258
1000te! Ojat 100.0 17.2 1.4 15.8 61.7 21.1 12.0 9.1
100~2008+ 100.0 12.2 13 10.9 59.2 285 235 5.1
200~3008+2 100.0 12.0 0.0 12.0 52.5 35.5 30.4 5.1
300~4008t2] 100.0 10.9 2.1 8.8 54.4 348 26.0 8.7
4008t oAt 100.0 5.7 0.8 4.9 31.8 62.6 38.0 246
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T = Al == i< oFzt 2% = oFzt 0 %
== == = o=

2025 4 100.0 10.2 12 8.9 495 403 30.0 10.3
202 3 4 100.0 8.8 0.9 7.9 59.0 32.2 24.5 7.7
<2 Qe

z = g 100.0 12.3 1.9 10.4 49.2 38.4 30.1 8.3
2 = o 100.0 6.6 0.0 6.6 50.6 42.8 29.3 136
N o2 - 100.0 8.8 1.1 7.7 47.3 44.0 28.7 15.3
=0l 100.0 9.5 0.7 8.8 52.9 37.6 31.9 5.7
<N

Lt Zt 100.0 10.8 16 9.2 48.3 40.9 315 9.4
ol 2t 100.0 9.3 0.7 8.6 51.4 39.3 27.6 11.7
D

15~209A4 100.0 15.4 2.4 12.9 57.3 27.3 17.1 10.2
30~39A4 100.0 8.4 25 5.9 450 46.6 36.2 10.4
40~49A 100.0 8.0 2.0 6.0 52.8 39.2 26.7 12.5
50~509 Al 100.0 7.3 0.7 6.7 47.2 45.4 33.1 12.3
60M O At 100.0 12.3 0.6 11.6 493 385 30.4 8.1
65AM O At 100.0 13.1 0.5 12,6 488 38.1 30.9 7.2
-

z = o & 100.0 136 0.5 13.1 50.8 35.6 26.5 9.1
Il £ 100.0 10.5 0.7 9.8 51.7 37.8 28.3 9.5
o = o] A 100.0 7.9 2.1 5.7 47.0 45.1 33.4 11.8
(ZOIAEN)

o| T 100.0 14.9 2.8 12.1 54.4 30.7 24.8 5.9
HY S 2} Q1 2 100.0 8.5 0.9 7.7 48.4 43.0 31.3 11.8
Ate /ol & 100.0 11.8 0.9 10.9 482 40.0 30.6 9.3
(BAHESE

2 o 100.0 9.8 1.1 8.8 49.8 40.3 30.2 10.1
ADI D HpRIEE 100.0 28.3 9.2 19.0 34.1 37.6 14.9 22.7
(Y

e/ ng 100.0 3.2 0.0 3.2 40.9 55.9 38.0 17.9
At o 100.0 7.4 1.4 6.0 55.6 36.9 31.2 5.7
M H| A /T O} 100.0 10.0 1.3 8.8 51.1 38.9 331 5.8
= 2 o of 100.0 11.2 0.6 10.7 53.7 35.1 28.2 6.9
=] 100.0 16.7 1.4 15.2 446 38.8 23.4 15.4
2 ol 100.0 35 0.0 35 52.7 438 24.0 19.9
OtHAE5E

1000+l Ojot 100.0 15.8 0.0 15.8 60.7 23.5 14.4 9.1
100~2008+ 100.0 19.0 1.3 17.7 52.5 28,5 25.1 3.4
200~3008+2 100.0 12,5 0.8 11.7 53.2 343 29.2 5.1
300~4002+2 100.0 8.4 2.1 6.3 54.8 36.8 29.0 7.8
4008t oAt 100.0 3.9 0.8 3.1 34.4 61.7 40.1 21.7

2025 HEtHE

g A=A

- 147 -



> 2| A | sw= ot | mEs | @E | oz 2
= == = Ih=

2025 4 100.0 8.4 0.7 7.7 52.2 39.3 284 10.9
20234 100.0 8.1 0.6 75 58.4 335 26.4 7.1
CAL g &5

z = 3 100.0 9.9 0.7 9.2 50.9 39.2 28.5 10.6
2 = g 100.0 5.7 0.0 5.7 56.6 37.7 26.7 11.0
N =2 2 100.0 6.8 1.1 5.7 50.2 43.0 28.2 14.7
ZF=oaxy 100.0 9.2 0.7 8.5 55.3 35.5 29.9 5.7
<H g

Lt at 100.0 8.9 0.7 8.2 51.3 39.8 29.5 10.2
ol Zt 100.0 7.7 0.7 7.0 53.7 38.7 26.8 11.9
(A

15~29A 100.0 12.9 0.0 12.9 57.4 29.7 19.5 10.2
30~39A 100.0 6.7 0.0 6.7 55.2 38.1 28.9 9.3
40~49A 100.0 8.0 2.0 6.0 49.7 42.3 26.6 15.7
50~59 A 100.0 6.1 0.7 55 50.5 43.4 31.1 12.3
60M O At 100.0 9.6 0.6 9.0 52.2 38.2 29.5 8.7
65AM O At 100.0 10.1 0.5 9.7 51.1 38.7 30.4 8.3
<ot

z = o & 100.0 9.2 05 8.7 56.8 34.0 24.9 9.1
in} £ 100.0 9.2 0.7 86 54.0 36.8 27.2 9.6
o = o] A 100.0 7.4 09 6.5 48.0 44.6 316 13.0
(ZQIATER )

i s 100.0 15.3 0.0 15.3 58.4 26.3 19.3 6.9
Hi 9 2 9 & 100.0 6.1 0.9 53 50.1 43.8 31.3 12,5
Ate /ol & 100.0 10.5 09 9.6 54.3 35.2 27.0 8.2
(BAESE

2 of 100.0 8.1 05 75 525 39.5 288 10.7
ADI D HpRIEE 100.0 283 9.2 19.0 39.9 31.9 9.1 22.7
(Y

Mo /e 100.0 4.0 0.0 4.0 388 57.2 35.7 215
n [=] 100.0 5.7 1.4 43 63.1 31.2 24.1 7.1
M H| A /THOj 100.0 6.4 0.0 6.4 56.0 37.7 32.2 5.4
= 2 o of 100.0 9.7 0.6 9.2 54.8 35.5 28.9 6.6
N /e m 100.0 14.9 1.4 135 455 39.5 24.2 15.3
2 ol 100.0 0.0 0.0 0.0 52.7 47.3 27.4 19.9
IttasE

1000+ Ojgt 100.0 15.4 0.0 15.4 62.2 22.4 13.3 9.1
100~2008+ 100.0 14.3 1.3 13.0 63.3 22.3 19.0 3.4
200~3002+2 100.0 9.8 0.8 9.1 55.7 345 29.4 5.1
300~4008t2] 100.0 6.1 0.0 6.1 57.6 36.2 288 7.4
4008t oAt 100.0 3.2 0.8 2.4 337 63.1 40.5 225
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2 -9 YA MEE - (7) LsHA| B2 ol
TRl %)
HADS
1 O o —
22 | A | wues | agae |TETIST S| ane | D25 | v
Aoz

2025 4 700.0 2.8 2.7 12.2 6.8 8.9 39.4 7.4
20234 100.0 28 33 15.7 18.7 14.9 325 121
TR

=z =2 3 100.0 2.1 3.0 17.1 14.5 15.5 41.0 6.7
2 =5 3 100.0 3.7 2.3 0.0 11.7 31.4 44.6 6.4
N =2 3 100.0 2.5 1.8 11.5 26.3 17.4 316 8.9
B zol2my 100.0 4.0 30 12.1 16.0 17.5 39.4 8.0
R,

= At 100.0 5.1 3.6 19.1 1.4 221 41.2 7.5
o At 100.0 1.4 2.1 8.0 25.9 17.0 38.3 7.2
TEER

15~29A 100.0 7.0 82 713 33 8.0 0.0 2.1
30~394 100.0 5.1 0.0 11.7 387 13.9 16.6 13.9
40~49A 100.0 5.0 48 26 495 10.8 27.2 0.0
50~509A| 100.0 31 76 0.0 44.0 26.6 1856 0.0
60N O A 100.0 1.4 06 0.3 11.9 217 54.2 9.9
65M O A 100.0 1.1 0.5 0.2 6.5 21.2 59.3 11.2
(ot

Z2 Z o] 3} 100.0 1.2 0.4 12.2 8.0 16.2 524 9.5
il Z 100.0 41 53 14.3 22.6 23.2 27.7 2.8
= o A 100.0 7.1 6.7 7.6 41.9 21.9 7.8 7.1
E QN>

0| =z 100.0 9.1 6.8 51.9 0.0 12.0 16.4 3.8
B © 2 Q2 100.0 0.6 16 0.4 343 22.3 35.8 4.9
R 100.0 15 1.2 0.6 0.3 18.7 63.5 14.3
GHYS D

Z| o 100.0 7.2 4.4 2.8 11.4 555 13.7 5.0
AR Ol HPREE 100.0 2.4 2.5 13.1 17.3 15.2 42.0 7.6
TR

HE /e 100.0 0.0 0.0 0.0 00 1000 0.0 0.0
At = 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0
M H| A /Oy 100.0 0.0 10.3 10.3 17.8 36.6 8.5 16.5
L 2 o ¢ 100.0 0.0 0.0 1.8 15.7 58.8 19.9 3.9
s/ =8 100.0 10.4 15.3 0.0 0.0 63.4 10.9 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R EPETT

10008l Ojat 100.0 1.8 16 0.7 1.1 16.6 67.1 11.1
100~2008+] 100.0 7.1 26 0.0 15 314 443 131
200~3008+] 100.0 37 8.4 0.0 33 511 335 0.0
300~4000+ 100.0 0.0 0.0 0.0 19.8 28.0 458 6.5
4008t] OfAf 100.0 0.0 0.0 0.0 138 4.4 217 23.1
2025 Hetdz: B/da ABIRA
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2 - 10, LY WZE - (1) 48 Y UEE

EROl ¢ %)

T+ = Al =05 0 & oF7t 23 k= oFzt 0 &
20tz | gorE N

2025 4 100.0 16.2 0.0 16.2 40.7 432 353 7.9
20234 100.0 11.3 0.0 1.3 60.6 28.0 23.7 43
<2 Qe
z = g 100.0 26.7 0.0 26.7 49.8 235 23.5 0.0
2 = o 100.0 0.0 0.0 0.0 63.2 36.8 18.4 18.4
N =2 o 100.0 17.0 0.0 17.0 21.3 61.6 48.4 13.2
=0l 100.0 0.0 0.0 0.0 81.1 18.9 18.9 0.0
<M g
Lt p 100.0 7.1 0.0 7.1 43.2 49.8 415 8.2
ol Zt 100.0 58.2 0.0 58.2 29.2 12,6 6.3 6.3
D
15~29A 100.0 100.0 0.0 100.0 0.0 0.0 0.0 0.0
30~39A 100.0 0.0 0.0 0.0 43.3 56.7 37.8 18.9
40~49 A 100.0 13.3 0.0 13.3 59.8 27.0 27.0 0.0
50~509 Al 100.0 24.7 0.0 24.7 30.6 44.7 44.7 0.0
60M O At 100.0 0.0 0.0 0.0 30.6 69.4 50.7 18.7
65AM O At 100.0 0.0 0.0 0.0 45.1 54.9 27.5 27.5
-
z = o & 100.0 0.0 0.0 0.0 25.0 75.0 59.8 15.2
inl = 100.0 0.0 0.0 0.0 65.2 348 348 0.0
o = o] A 100.0 26.0 0.0 26.0 30.5 435 326 10.9
(ZQISEHEH
O| T 100.0 78.9 0.0 78.9 21.1 0.0 0.0 0.0
HY S 2} Q1 2 100.0 7.1 0.0 7.1 43.2 49.8 415 8.2
Ate /ol & 100.0 41.4 0.0 41.4 35.8 22.8 11.4 11.4
AHBEL
2 of 100.0 17.0 0.0 17.0 40.7 423 34.0 8.3
ADI D HpRIEE 100.0 0.0 0.0 0.0 39.5 60.5 60.5 0.0
(Y
A2/ B g 100.0 375 0.0 375 31.2 31.3 0.0 31.3
Ab o 100.0 54.4 0.0 54.4 45,6 0.0 0.0 0.0
A H| A /Tt Of 100.0 15.5 0.0 15.5 54.4 30.1 30.1 0.0
= 2 of o 100.0 0.0 0.0 0.0 0.0 100.0 87.5 12,5
s/ 2 100.0 0.0 0.0 0.0 84.7 15.3 15.3 0.0
2 ol 100.0 8.3 0.0 8.3 22.9 68.8 57.4 11.4
THHA258
1000te! Ojat 100.0 0.0 0.0 0.0 0.0 100.0 100.0 0.0
100~2000t 100.0 0.0 0.0 0.0 44.6 55.4 55.4 0.0
200~3008+2 100.0 72.5 0.0 72,5 19.7 7.8 0.0 7.8
300~4002+2 100.0 0.0 0.0 0.0 4.9 58.1 34.7 23.4
4008t oAt 100.0 12.7 0.0 12.7 48.2 39.1 39.1 0.0
2025\ HeteEE Z/dT AIBIZRAL



2 - 10. ng¥F UZE - (2) Juy A =

: %)

S A | eus | e | 28 | ws | gz 2
o = L IS

2025 4 100.0 23.9 45 19.4 35.0 411 288 12.3
20234 100.0 13.3 1.1 12.3 60.0 26.6 20.8 5.9
Ao
z = 100.0 29.2 8.9 20.2 35.2 35.6 26.7 8.8
2 =2 3 100.0 0.0 0.0 0.0 43.2 56.8 10.4 46.4
N 2 #H 100.0 23.0 0.0 23.0 33.8 43.3 31.3 11.9
Fzolay 100.0 12.6 0.0 12.6 34.0 53.4 38.4 15.0
<A D
Lt 2t 100.0 22.4 5.3 17.0 37.2 40.4 28.3 12.1
o At 100.0 32.6 0.0 32.6 22.6 44.8 31.3 13.4
g g g
15~29A 100.0 0.0 0.0 0.0 0.0 100.0 100.0 0.0
30~39A4 100.0 25.2 0.0 25.2 28.7 46.1 24.8 21.2
40~49A 100.0 35.6 10.1 25.5 33.7 30.7 20.2 10.5
50~509 Al 100.0 4.3 0.0 4.3 48.4 47.2 37.2 10.1
60A O A 100.0 26.1 0.0 26.1 26.3 47.6 38.7 8.9
65AM oOfA4 100.0 0.0 0.0 0.0 21.4 78.6 57.0 21.6
CstE g
Z2 Z o] 3} 100.0 28.0 0.0 28.0 37.3 34.7 252 9.5
i = 100.0 19.3 4.1 15.2 45.4 35.3 243 11.0
I & o 4 100.0 26.5 5.2 21.3 28.2 45.3 31.9 13.4
(ZQIATEN >
0| = 100.0 0.0 0.0 0.0 14.8 85.2 85.2 0.0
Y 2 29 & 100.0 25.9 5.3 20.6 37.0 37.1 26.4 10.8
A" /o & 100.0 18.8 0.0 18.8 28.0 53.2 20.7 325
(BAEEE>
Z| o 100.0 24.4 4.7 19.6 36.2 39.4 26.5 12.9
AR Ol HPREE 100.0 15.6 0.0 15.6 10.2 74.2 74.2 0.0
R
2/ 2a 100.0 0.0 0.0 0.0 58.1 419 13.9 27.9
At = 100.0 15.0 0.0 15.0 38.7 46.2 46.2 0.0
MH| A /THOY 100.0 40.1 14.7 254 27.4 325 21.8 10.6
L a2 o o 100.0 13.1 0.0 13.1 37.1 49.8 33.9 15.9
s/ =8 100.0 10.4 0.0 10.4 36.5 53.1 328 20.4
= ol 100.0 34.4 0.0 34.4 29.2 36.4 291 7.2
(A RE N
1008+l 0ot 100.0 0.0 0.0 0.0 28.3 71.7 71.7 0.0
100~2008+2 100.0 0.0 0.0 0.0 43.0 57.0 57.0 0.0
200~3008+2 100.0 16.3 0.0 16.3 29.3 54.3 49.9 45
300~4000+ 100.0 19.0 6.3 12.6 49.3 31.7 18.9 12.9
4008t8) oAt 100.0 315 5.4 26.1 29.2 39.3 23.7 15.7
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2 -10, R8P UFE - (3) Aw 2| B{ 7|3 FEE
(TS %)
22 oA | o AR ae | =sort| 2wt | om | oo
: o | molct | 1o
Lo

2025 4 700.0 36.4 44 31.9 396 241 226 15
20234 100.0 30.5 23 282 52.7 16.7 16.7 0.0
EEEE
=z =2 3 100.0 34.0 8.7 25.3 41.3 24.8 21.9 2.9
2 =2 3 100.0 36.6 0.0 36.6 23.3 40.1 40.1 0.0
N =2 3 100.0 306 0.0 30.6 48.7 20.7 20.7 0.0
ZFzo Yy 100.0 65.7 0.0 65.7 9.0 25.3 25.3 0.0
< /g &)
2 At 100.0 34.9 5.3 29.6 38.4 26.8 25.0 1.8
o At 100.0 44.5 0.0 44.5 46.0 9.5 9.5 0.0
Co oy
15~29 M 100.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
30~39A 100.0 286 0.0 28.6 35.7 35.7 35.7 0.0
40~49 A 100.0 43.9 9.7 341 36.2 20.0 16.7 3.2
50~59 A 100.0 36.2 0.0 36.2 37.3 26.5 26.5 0.0
60AM o4 100.0 24.5 0.0 24.5 54.7 20.8 20.8 0.0
65AM oOfA4 100.0 15.0 0.0 15.0 32.2 52.8 52.8 0.0
CohE g
Z2 Z o] 3} 100.0 20.9 0.0 20.9 55.8 23.3 23.3 0.0
i = 100.0 30.1 4.0 26.1 51.0 18.9 14.8 4.0
I & o 4 100.0 42.3 5.2 37.1 30.1 27.6 27.6 0.0
ZoAE)
0| = 100.0 0.0 0.0 0.0 77.0 23.0 23.0 0.0
Hf @ A U S 100.0 39.0 5.3 33.7 37.0 24.0 22.2 1.8
At /ol & 100.0 37.8 0.0 37.8 36.5 25.6 25.6 0.0
LS
! of 100.0 36.5 48 317 410 226 21.0 16
ADI O HpRBE 100.0 349 0.0 34.9 20.7 44.4 44.4 0.0
EEEER
He /R a 100.0 11.8 0.0 11.8 51.4 36.7 36.7 0.0
At = 100.0 15.0 0.0 15.0 85.0 0.0 0.0 0.0
M H|A /T 100.0 55.0 14.7 40.3 23.0 22.0 22.0 0.0
L a2 o o 100.0 24.0 0.0 24.0 65.1 10.9 10.9 0.0
s/ =8 100.0 22.6 0.0 22.6 411 36.3 239 12.4
= ol 100.0 41.8 0.0 41.8 36.4 21.8 21.8 0.0
REZST
100ate! ojat 100.0 60.5 0.0 60.5 0.0 395 395 0.0
100~200at8) 100.0 25.5 0.0 255 453 29.2 29.2 0.0
200~3001t8 100.0 24.4 0.0 24.4 52.1 235 235 0.0
300~4000+] 100.0 331 6.5 26.5 53.8 131 13.1 0.0
4009 O| A} 100.0 41.0 5.4 35.7 315 27.4 24.7 2.7
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(29l : %)
SO T - B e L L (T I U
ot | mojct Holer ) ==
2025 4 700.0 173 78 15.4 39.1 793 178 15 243
20234 100.0 16.7 3.0 13.7 50.2 125 106 2.0 206
EEEE
= = A 100.0 13.3 2.0 11.2 43.0 20.2 18.4 1.8 235
2 = 3 100.0 4.6 0.0 4.6 53.4 14.4 13.2 1.1 27.6
H =2 @H| 1000 285 34 251 248 177 175 02 290
2zolay| 1000 228 0.7 221 367 233 205 28 173
< =
=k At 100.0 19.1 2.4 16.6 389 20.3 18.5 1.8 21.7
o At 100.0 15.4 1.1 14.2 39.4 18.2 17.0 1.2 27.0
EEER
15~29 M 100.0 111 5.1 6.0 49.4 26.7 26.7 0.0 12.8
30~394 100.0 21.9 0.7 212 43.4 19.2 1738 1.4 155
40~49K 100.0 286 5.4 232 36.1 20.0 19.0 1.0 15.4
50~509Al 100.0 20.9 26 183 410 21.0 19.4 16 171
60AM o4 100.0 12.8 0.5 12.3 37.5 17.8 16.0 1.8 31.9
65AM oOfA4 100.0 11.6 0.4 11.2 355 16.8 15.0 1.9 36.1
SRR
Z2 Z o] 3} 100.0 11.6 0.2 11.4 34.0 16.2 14.4 1.8 38.2
i Z 100.0 16.8 2.8 14.0 46.3 17.3 16.5 0.8 19.7
o = o A 1000 246 28 218 387 250 232 18 116
B OIAE >
0] s| 1000 164 13 150 484 187 182 06 165
Hf @ A U S 100.0 19.3 2.0 17.3 37.6 21.0 19.3 1.8 221
A& /Ol & 100.0 11.7 1.7 10.0 37.7 14.3 13.0 1.4 36.3
GBS
2 A 100.0 19.2 23 16.9 38.6 20.9 19.0 20 21.3
AR Ol HPREE 100.0 13.7 0.9 12.8 40.2 16.2 15.6 0.6 29.9
EEEE
A2 /1o g 100.0 21.2 1.3 19.9 41.8 30.4 27.0 3.3 6.7
At = 100.0 17.3 2.7 14.6 43.4 19.7 19.7 0.0 19.5
Mu|A/mop | 1000 194 3.1 163 390 203 174 30 212
L a2 o o 100.0 18.3 0.7 17.5 31.8 21.6 19.6 2.0 28.4
s/ =8 100.0 12.2 0.0 12.2 40.0 19.5 17.7 1.8 28.3
= 0l 100.0 47.7 16.1 31.6 389 10.8 10.8 0.0 2.6
REZE]
1008k Ojat | 100.0 9.0 0.3 87 393 139 129 10 378
100~2008+] 100.0 17.2 1.7 15.5 346 15.7 13.0 2.7 326
200~3008+] 100.0 132 35 9.7 44.3 227 208 18 19.9
300~4000+ 100.0 20.8 2.8 18.1 39.9 21.0 203 0.7 183
400atgl o | 1000 256 27 229 322 226 188 38 196
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2 - 11. 971ZF UZT - (1) 2S97IAH

(9] : %)
T = Al == i< ozt 2E = oFzt 0%
20tz | gorE N

2025 4 100.0 235 48 18.7 545 21.9 17.4 46
20234 100.0 28,5 9.4 19.1 54.3 17.2 12,6 4.6
CA g &
z = g 100.0 16.6 1.8 14.8 56.6 26.8 20.0 6.8
2 = g 100.0 11.8 35 8.4 63.4 24.7 20.6 4.1
N o2 - 100.0 38.1 8.7 29.4 488 13.1 11.8 1.3
ZF=oaxy 100.0 31.2 8.2 23.0 49.6 19.2 15.4 38
<H g
Lt Zt 100.0 23.0 5.0 18.0 52.8 24.1 19.8 4.4
ol 2t 100.0 24.0 46 19.5 56.4 19.6 14.9 48
a3 8o
15~209A4 100.0 15.0 1.8 13.3 67.1 17.9 14.5 3.4
30~39A4 100.0 38.7 12.9 25.8 45.4 15.9 13.0 2.9
40~49A 100.0 32.0 5.1 26.9 433 24.6 17.5 7.2
50~509 Al 100.0 20.9 36 17.3 54.8 24.4 22.8 15
60M O At 100.0 21.9 45 17.4 55.7 22.4 16.8 5.7
65AM O At 100.0 21.3 5.1 16.1 57.0 21.8 15.8 6.0
-
z = o & 100.0 24.1 5.9 18.2 55.7 20.2 14.8 5.4
Il £ 100.0 18.2 33 14.9 63.6 18.2 14.6 36
o = o] A 100.0 28.3 49 23.4 43.7 28.1 236 4.4
(ZQIATER )
o| s 100.0 28.1 48 233 56.8 15.1 12.8 2.3
HY S 2} Q1 2 100.0 22.8 43 185 51.6 25.6 20.8 48
Ate /ol & 100.0 20.9 6.1 14.8 61.2 17.9 11.8 6.1
(BAESE
2 of 100.0 24.6 4.4 20.1 50.5 24.9 20.5 4.4
ADI D HpRIEE 100.0 21.8 5.4 16.4 61.1 17.1 12.2 4.9
R
e/ ng 100.0 18.5 0.9 17.6 433 38.2 28.2 10.0
At [=] 100.0 286 1.4 27.2 45.1 26.2 245 1.7
M H| A /T O} 100.0 21.2 47 16.6 54.8 24.0 22.2 1.8
= 2 o of 100.0 31.0 6.3 24.6 49.1 20.0 14.6 5.4
=] 100.0 16.3 1.4 14.9 60.0 23.7 18.5 5.1
2 ol 100.0 42.3 233 19.0 34.3 23.4 19.9 35
OtHAE5E
1000+l Ojot 100.0 20.8 5.7 15.1 64.3 14.9 10.3 46
100~2008+ 100.0 326 6.1 26.5 45.4 21.9 17.3 4.6
200~3008+2 100.0 215 43 17.2 53.4 25.1 22.0 3.1
300~4008t2] 100.0 21.7 8.7 13.0 55.6 22.7 215 1.2
4008t oAt 100.0 21.9 4.7 17.2 458 32.2 23.3 8.9
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T+ = A == {2 ) 23 o= ) {2
20tz | gorE N

2025 4 100.0 22.2 50 17.3 57.6 20.1 15.8 43
20234 100.0 28.2 86 19.6 54.8 17.0 12.9 4.1
CA 9 EH
z = g 100.0 17.9 2.2 15.7 58.3 23.9 17.4 6.4
2 = g 100.0 11.5 40 7.5 64.1 24.4 20.3 4.1
N =2 o 100.0 334 86 24.7 55.7 11.0 10.2 0.8
ZF=oaxy 100.0 27.3 7.8 19.5 53.1 19.5 15.8 38
CHoE
Lt p 100.0 21.7 49 16.8 57.0 21.3 17.2 4.1
ol Zt 100.0 22.8 5.0 17.8 58.3 18.9 14.4 4.4
(A
15~29A 100.0 18.4 4.7 13.7 67.4 14.2 10.8 3.4
30~39A 100.0 29.3 12.9 16.4 53.2 17.4 14.5 2.9
40~49 A 100.0 25.1 5.0 20.2 49.9 25.0 19.4 5.6
50~509 Al 100.0 21.9 36 18.3 55.7 22.5 20.3 2.1
60M O At 100.0 21.4 4.1 17.2 58.6 20.0 14.7 5.3
65AM O At 100.0 21.1 48 16.3 59.7 19.1 13.6 5.6
-
z = o & 100.0 23.5 5.1 18.3 58.9 17.7 12.3 5.4
Il £ 100.0 19.3 4.4 14.9 62.7 18.0 14.6 3.4
o = o] A 100.0 238 5.3 18.5 50.8 25.5 218 3.7
(ZQIATER )
O| T 100.0 24.7 6.0 18.7 60.5 14.8 12.4 2.3
HY S 2} Q1 2 100.0 21.7 4.4 17.3 54.8 23.5 19.0 45
Ate /ol & 100.0 21.4 56 15.8 63.3 15.3 9.6 5.7
(BAHZFE
2 of 100.0 21.9 4.1 17.8 55.4 22.6 18.6 4.1
ADI D HpRIEE 100.0 22.7 6.3 16.4 61.2 16.0 11.4 4.7
R
A2/ B g 100.0 15.8 0.9 14.9 47.3 36.9 30.0 6.9
Ab o 100.0 22.4 1.4 21.0 54.3 23.3 21.6 1.7
A H| A /Tt Of 100.0 20.6 4.4 16.2 57.3 22.2 18.9 3.3
= 2 o of 100.0 27.2 5.1 22.0 52.0 20.8 15.6 5.2
=] 100.0 19.3 2.8 16.5 62.9 17.8 12.7 5.1
2 ol 100.0 31.8 19.8 12.0 55.3 13.0 13.0 0.0
Tt as58>
1000te! Ojat 100.0 20.3 5.4 14.9 65.8 13.9 96 43
100~2008+ 100.0 33.1 4.4 28.7 50.1 16.8 12.2 46
200~3008+2 100.0 17.7 43 13.4 59.7 22.6 18.9 3.7
300~4008t2] 100.0 24.2 8.7 15.6 56.3 19.4 17.6 1.9
4008t oAt 100.0 16.9 39 13.0 55.3 27.7 19.7 8.0
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2 - 12, ANZHAHEO] OfSt TR - (1) H
(@9 : %)
& =H
S N EE ST B B T B PRSP P
att | ot
2025 4 700.0 58.3 79.3 39.0 1.7 333 83
20234 100.0 615 19.8 417 385 30.7 7.8
EEEE
= = A 100.0 547 18.5 36.2 45.3 34.8 10.5
2 o o 100.0 716 32.2 39.4 28.4 217 6.7
N = 100.0 59.8 16.4 43.4 40.2 348 5.4
2 zo0 a3 100.0 54,3 143 40.0 45.7 37.3 8.4
TR
=k At 100.0 55.6 17.5 38.0 44.4 35.1 9.3
of 2t 100.0 61.2 211 40.1 388 31.4 7.4
Cow e
15~2094 100.0 42.3 5.1 37.2 57.7 455 12.2
30~394 100.0 46.8 16.2 306 53.2 40.5 12.7
40~49A 100.0 39.1 5.3 338 60.9 52.0 8.9
50~59MA 100.0 49.3 13.1 36.2 50.7 37.1 13.6
60A O A 100.0 72.5 29.1 43.4 275 23.0 45
65AM oOfA4 100.0 76.4 33.2 43.3 23.6 20.2 3.3
Cote s
= = of 3 100.0 72.4 306 418 27.6 22.1 5.5
i = 100.0 53.8 16.0 37.7 46.2 36.4 9.8
= o A 100.0 45.1 8.2 36.9 54.9 44.4 105
RITES
0| = 100.0 49.0 11.6 374 51.0 37.9 13.1
Hf @ A U S 100.0 56.0 16.3 39.7 44.0 35.3 8.7
AbE /o= 100.0 75.1 36.3 388 24.9 22.4 25
FAEE
3 of 100.0 485 9.6 38.8 515 41.4 10.2
AR Ol HPREE 100.0 74.5 35.1 39.4 25,5 20.1 5.3
TR
A2/ 100.0 46.1 7.9 38.1 53.9 40.9 13.0
At = 100.0 43.8 4.4 39.4 56.2 48.6 7.6
A H| A /T of 100.0 410 5.3 35.7 59.0 483 10.7
= 2 o ¢ 100.0 62.8 17.1 457 37.2 29.6 7.6
s/ =8 100.0 50.2 10.9 39.3 49.8 349 15.0
= ol 100.0 30.5 2.5 28.0 69.5 66.1 3.5
R PET
1008kl Ojat 100.0 86.8 476 39.2 13.2 1.8 15
100~2008+) 100.0 66.4 20.9 45.5 336 245 9.0
200~3008H 100.0 52.6 135 39.0 47.4 39.0 8.4
300~4008t 100.0 438 8.0 358 56.2 45.1 11.1
4000+S) O] A} 100.0 46.3 6.9 394 53.7 4.4 12.3
2025 Hetdz: B/da ABIRA
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2 - 12. MZHALGOl TS MZE - (2) FU(ZFY TY)
: %)

2 8 YAl T ME 17 Za| 2% airt -
2025 4 100.0 66.3 22.1 442 33.7 27.7 6.0
20234 100.0 67.1 22.0 451 32.9 26.3 6.6
CAL 9 g5
= = A 100.0 64.5 23.6 40.9 355 28.1 7.5
2 = 3 100.0 77.5 32.9 44.6 22.5 15.7 6.8
N o2 A 100.0 67.5 18.5 49.0 32.5 30.3 2.3
Fzolay 100.0 59.6 14.0 45.6 40.4 337 6.8
<A D
2 At 100.0 65.6 20.4 45.2 34.4 28.0 6.4
o At 100.0 67.0 23.8 43.2 33.0 27.4 5.6
@
15~29A 100.0 51.9 6.3 456 48.1 40.3 7.8
30~39A 100.0 67.1 228 44.3 32.9 24.4 8.5
40~49A 100.0 485 6.0 425 51.5 43.8 7.7
50~509 Al 100.0 61.6 17.1 44,5 38.4 29.8 8.6
60AM o4 100.0 75.7 31.7 441 24.3 20.5 3.7
65A O A 100.0 77.4 35.4 42.0 22.6 19.8 2.8
-
Z2 Z o] 3} 100.0 76.1 33.7 42.4 239 19.7 4.2
i Z 100.0 62.8 18.5 44.3 37.2 30.6 6.6
I & o 4 100.0 57.3 10.9 46.4 42.7 35.0 7.7
(ZAIAERED
0| = 100.0 62.1 13.1 49.0 37.9 29.7 8.2
HY 2 2t 9 2 100.0 64.0 19.7 44.3 36.0 29.4 6.6
At /ol & 100.0 77.5 38.6 38.9 22.5 20.6 1.9
(BAEEE>
Z| o 100.0 59.6 13.4 46.2 40.4 33.4 7.0
AP QI HpBE 100.0 77.2 36.3 40.8 22.8 18.5 4.3
R
A2 /1o g 100.0 62.0 13.4 48.6 38.0 33.9 4.1
At = 100.0 51.1 5.3 45.8 48.9 41.6 7.3
M H| A/ THOY 100.0 52.1 10.2 419 47.9 39.6 8.3
L a2 o o 100.0 68.8 17.5 51.3 31.2 247 6.5
s/ =8 100.0 64.7 18.4 46.3 35.3 26.9 8.4
= ol 100.0 53.7 13.0 40.8 46.3 43.8 2.5
(A RE N
1009+ Ojot 100.0 87.4 48.6 388 12.6 11.4 1.1
100~2000+2] 100.0 70.9 25.5 45.4 29.1 23.1 6.0
200~3008+2 100.0 59.5 14.6 44.8 40.5 33.3 7.2
300~4000+ 100.0 57.8 9.9 47.9 42.2 35.5 6.7
4008t8) oAt 100.0 57.9 10.1 47.7 42.1 32.9 9.2
20254 Hette AL Z AL






